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D.STF-1-23
P e W R AR T
E“g ; . and arrange them in 1. sqaﬁﬁlﬂ"'ﬁﬁq :
1. Consider the following ch-l;:w}h EIGERIRCI
ascending chronological order : T R-]-Ehan
Raghobia}) l. T
1. Raghunath Rao (Raghoba
' ) ‘e I NRIGIEISIEES
2. Balaji Baji Rao (ep 2
3. Narayan Rao S 3, I RG]
4. Balaji Vishwanath \'J'l 4 et EE
iven
Seile.ct the corrcet answer from the codes give Iﬁ% ﬁt{m{@ ¥ ﬁ"ﬁﬁmﬂﬁq
below ! 3.4,1,2
@ 42,31 6 3,4,1,2 (@ 4,231 ® 3
3 sy oy 33 2, 4
© 1,2,3,4 @ 1,3,2,4 © 1,2,3,4 @ L
2. Consider the following statements with reference 1o 2 =R gt & St m w fEr
early trade : A
iver-ports in ' .
1. The'rc are r.eferenccs of numerous river-ports i 1 ﬂﬂﬁﬁaﬁﬁ Aot Fa=t e g
ancient India. L . WEH EEU
2. There were large Entrepntiig}" poods and traffic. 2, amm#aﬁtwwm%a%:ham@? |
Which of the above statements-isfare correct ? :;q-é.—rﬁ 08 HH-E/8 w a3 9
n
{a} Bothland2 (b) either 1 nor 2 x(a) 139 2 85 (b) T 1782
(c) Only1 (d) Dhly?2 @ S E )
3. Amange the following Sen rulers of Bengal in
ascending chrenological order : 3. W % frfafa A IMEHT 1 TRV “RICTSRATIAT
1. Ballal Sen 'ﬁ'ﬁ'ﬁ-‘aa'ﬁﬁm
2. Lakshman Sen =42 L aeeedq
3. Hemant Sen 2 T @gg
4. VI_]E}"H Sen 3. %'H?ri:‘[.'{ 5 .
Select the correct answer from H@codes given below : 4 2o
< L |E1\_!1?3I
{a) 4,3,2,1 (b){Q;I43 - _
() 1,2,3,4 (d) 3}4 2 ﬁqw?ﬁﬁwmﬁ:
4 Consider 1 @ 43,2, (b) 2,1,4,3
; “onsider the following staterﬁbdts with reference tp n
Bairam Khan - © 1234 d)y 3,4,1,2
I Akbar gave the title of Khan-i-Khana to Bairam -
Khan, d. ﬁm@?mﬁaﬁw%ﬂﬁm%?ﬁﬁq;
2 This tide was not given at the time of L W%mﬁfﬁﬁ@:{.@mﬁaqﬂﬁﬁ|
;]:;:;ment of Baiam Khan as Vo of 2. TSl ey T w7 F dgy NN
Which of the above Stalements is/are corpect 7 i T
@) Bog, lang 2 ®)  Neither 1 1 Wﬁﬁﬁq—m@mw o
[,:] nor . X
Criv @ Onlys (@ 132 (b) 17y
________________________________________________ (©) ey @) Sas
*2_; ----------- _“'_"""'""“"--—-—--._-___‘___ .
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Wrile in de i )

i e |[r_: i]r.:f;cr:mlmg order the lollowing States on the
=818 01 thewr population as per Census, 2011 -
l.  Bihar 2 it .

< Andhra Prades
3. Uttar Pradesh 4. Wn;sinlric[;l;!luh

¢I1non? the correct answer witly the help of 1he
following codes :
(@ 3.4,1,2 (b)

() 1,3,4,2 (dy 3,1,4,2
Match Li:‘il-] with List-I1 and choose (e cotreel
answer using the codes given below the lists -
N lﬁlst-l List-11
; uman 1.  International
Development Report Menetary Fund

B. World Economic 2. United Nations

1,3,2.4

Outlook Environment
Programime
C. World Investment 3. U niTed Nations
Report Development
Programme

D. Emissions Gap 4. United Naltions

Report Conference on Trade
and Development
Codes :
A B Cc D
(@ 3 1 4 2 EEE
® 3 4 1 2 1‘:-%5
(c) 1 2 3 4
(dy 2 3 4 1

Consider the following events and arrange them in

correct chronological order starting from the carliest

to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme

3. Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Seleet the correct answer from the codes given

below :

(a) 2,3,4,
2,3

I (h;} 4,21||
© 1,2,3,4 21

3
{d.} 3: 1 "4

The following lists [ and 1I show the names of
Economists/Authors and their books m""mc}"".cl}f'
Match List-l with List-[l and choose the correcl
answer using the codes given below the lists ;

List-I List-11
2 it/ Author, (Hook)
ffc ﬂ;:?;::i;l : 1. Economic Theory and
. Under-developed Reglons
B. Hirschman 9. The Strategy of Leonomic
‘ Development
. Kald 3. Strategic Faclors i
= R Fconomic Development
D. Adam Smith 4. The Wealth of Nations
Codes :
A B C D
(ay 1 2 3 4
)y 2 3 1 4
ey 3 2 1 4
2 I 3 4

(cl) ]

6.

7.

D.STF-1-23

201 | Y SFIAT % STTAR T ST F H T
Frrerferfera trai i sradedt o H fafa

1. fiEr y 1 1

3. FWEw 4, gfEm e

Freferfa =z 1 e @ smAr gd 3w g
Au) 34,1,2 (b) 1,3,2,4

(&) 1,3,4,2 (d) 3,1,4,2

el A iy @ gifer s s gfer & 4 fa

L 20 I aI-11

A, arE frm fdd | 1, st MR A

B. faganiia g T TR FIHE

c. oo oeF T, P AT

D. IS AT 3 o T

e TRl

@:A B C D E%lg
S 3 1 42 E

® 3 4 1 2

€ 1 2 3 4

@ 2 3 4 |

Freafafs weei w mn Fifwe T 7= ad
FIRARFA § wateud i, T Teer § S FAnEd
"'IﬁfﬁlﬁTﬂ?ﬁf:,_.“j

3. WP SSITR AT

4, Wﬁimmm

re fag e e ¥ @ wet I gFT

(@ 2,3,4,1 (b 4,2,1,3

() 1,2,3,4 (@ 3,2,1,4

forrarfenfia gfem | af 11 sreffEwieras % T @
T el 1 s g & | e @
@ﬁﬂﬁiﬁlﬁmaﬂtﬂﬁlﬁfﬁ?:ﬂﬁﬁqma&?muﬁmﬁ
T I MY

el et

el aEs)  (IF9)

A fida 1 1. i e g iz 1
B, felt ) 2 @R ol g S
C. et | 3, S b g R ST

T : i
" A B C D
Aa) 1 2 34
) 2 3 1 4
(¢) 3 2 1 4
il l 3 4
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9.

10.

11.

12,

‘@

Which of the following statements is nof truc aboul

““ecological niche™ ?

(a) Dominant specics oceupy extensive and broader
ecological niche.

(b)  Number of species becomes large in ceological
niche of natural ecosystem, il resources are
suflicient. .

() Number of specics bccutﬁarés small in ccological
niche, if resources are sufficient.

(d) Dominance of singled species becomes

minimum  if the resource distribution s

equitable in a-habitat. l’

\

Martch List-1 with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-11
h Y
(Biosphere Reserve) (State)
A.  Simlipal l. Kerala
B. Nokrek 2. Odisha
C. Agasthyamalai 3. Assam
D. Manas Lﬁ4' Meghalaya
Codes : =5
")
A B C D i
i 9
(a) 1 2 4 3 E_j one
(b) 3 1 4 2 :rl E,%g
© 2 4 3 1
(d) 2 4 1 3

Consider the following statements :

1. Scientific investigation depends on commitment
to practical ideals.

2. Honesty is particularly important in science.

Select the correct answer from the codes given below :
(a)  Both statements 1 and 2 are correct,

(b)  Both statements | and :Z‘rii'_re incorrect,

(c)  Statement I is correct, ,—’Z,Lt}, nol correct,

(d)  Statement 1 is correct, 2-i¢ unpredictable,
[}
Which of the following is thé Gorrect order of plant
Species from higher to lower &"Jt.r ?
(@) Clasg— Phylum — Order —
(b)  Order - Clags _
(©) Class—

Plant Kingdom

9.

10.

11.

~1a)

D.STF-1-23
i et 7 & FA-ET e F

m%l m%wﬁﬁ?ﬁaﬁq%ﬁ
(b) o gt &, 1 SR <A ST we g
3 aﬁﬁ%ﬁl o g # afy wEnE Wi €
; mﬁrﬁaﬁmmﬁiﬁﬁﬁg’l -
) af ol sare it e T @A T @,

(a)

L1 1 G-Il & AT I e gferat & A= faw
T AT G
i
(harea sre)

gT-11
(1)

A B C D
@ 1 2| a4 3
(b) 3 1 4 2
© 2 4 3 1 -
d 2 4 % 0
o L3 i

ﬁw%rf@ermﬁq"{ﬁﬂn?ﬁﬁr{:

L. e St =i sireet & wfy hiegar
[EiEaGind

2. T i et e v @ e 2

QT o | A2 wdi E

(b) AT 1 i 2 e

(©) =\ 1WEE 2wt

(d) 1T, 2 SR 2 |

frafeafed § & @ 5= i

STt 6T o) sh & 2 S P 2

(1) & — | — 7707 — ey ST

(b) 77— — Y _ gy S

(¢) = — IRy ST — ey — Ty

EE
L
E*

13.

14.

16.
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D.STF-1-23
13.  Consider the following statements with reference to | 13- it i & wreand o it e o forem hifo
the Justice Party : l. Hﬁ%ﬁqﬁqﬁfﬁﬂ?ﬂﬁﬂdﬁwmw

1. The Justice Party opposed Congress by calling STl H13H e %L fohaT |
it a Brahmin dominated organisation, 2, =g e ¥ e 38 & gty ufeffea

2. It chimed the same communal representation 1 g form S fo arer- e gam A ng-mr:ﬁ
:‘m;ilmn Brahmins as the Morley-Minto reforms Fy ey an
d given to Muslims

Which of N e i e e e )

1¢ above statements is/are correct ? j
() laﬂtza“m (b) AW IAE2
(a) Bothland?2 (b) Neither I nor2 i N
Faal () (d) TFFA2
(¢) Only | (d) Only2 (©) -l
14.  Consider the following statements with reference to | 14- ThE Ug i EE' ‘Tl—éf F g 1 fefefaa wa o

the Workers and Peasants Party : ﬁﬂ'l'{iﬁlﬁm .

1. The Workers and Peasants Party was formed in 1. aﬁ@ﬁ@“ﬁwm 1927 qgmaﬁ'{sﬁ
1927 and was given the form of an All India e STRaeT e §a ot &9 fogm T |
Organisation. 2. = T I IegT T & Had o FHIH FT o

2. The objective of this party was to work within fran zaer 21 wifdwdt e areh gl i
the Congress so that it could be made a more STV ST ST T ST ST 0 |
revolution inclined party and an organisation of o Y
the common people. . Iﬁili : - B3 :

: : (a) 13723 (b) TA 1982
Which of the above statements is/are correct ? , . ,
) el L ECh|
(a) Both1and2 (b) Neither 1 nor 2 () ';_i’ (d)
(c) Onlyl (d) Only2 . ) i _
15. TrafaRaa gersi o = S qut §7€ e §
. L)
15. Consider the following events and arrange them in Eﬂﬂﬁ?«lﬂiﬁﬁ{mﬁ_,

chronological order : 1. ﬁEsﬁﬂT@fﬁ@H g%%

1 East India Association E’-&% 2. WYH Efead wEiReE ~

2. National Indian Association = 3. ifema A

3. Indian Society 4 E%ﬂq@ﬁ[@ﬁ \

4. Indian Association =i fo T e 3 & el s g :

Select the correct answer from the codes given below : M) 1.2,4,3 ®) 1.3.2.4

(a) |,2, 4,3 (b) 193-214 (C) 2’ 1‘4,3 (d) 1’2‘3,4

() 2,1,4,3 (d 1,2,3,4

16. Consider the following events and arrange them in |16, fr=fafaa Eia‘-lm’[ w fam e qon 77 @@
correct chronological order starting from the earliest W o aﬁ'ﬁgﬁ[ Eﬁ‘ﬁ-{q 'gaﬂ' qgé‘ T éﬁ( anfasr
to the last activity : ity T ;-.*3

1. Royal Indian Navy Revolt . 1. mmﬁﬂﬁ?ﬂ'&ﬁﬁmﬁ'ﬁ%

2. Announcement of Cabinet Mission 2 %Fﬁ?.’ﬁ?{ﬂﬁ S

3. Formation of Interim Government o 3. WWWW

4. Arrival of a UK Parliamentary Delegation 1n 3 mmﬂﬁﬁﬁmﬂﬁﬁﬁw
Delhi ’ )

Select the correct answer from the codes given below : ﬁﬁqm{@ﬁﬁaﬁm uE[I q: o4

() 43,21 ® 4,1,2,3 @ 4321 ®) 41,2

2
n:) 4,2,1,3 d 2,4,1,3 9 4213 @ 2,4,1,3



17.

18.

19.

20,

With reference to the Age of Consent Act, 1891

consider the following statements

I. It was Behramji Malabari, a Parsi rcfnnm?r
from Bombay, who advocated for ﬂﬂS
legislation,

2.  The Act was suppoil'r;i:ﬁ by the extremist wWing
led by Bal Gangadhar Tilak.

Which of the above stalerﬁ_er{ts is/are correct ?

() Only2 (b}’ Neither I nor 2

(6) Onlyl (d), Both | and2

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Shivaji had to face opposition from

the big Deshmukhs.

Reason (R) : These Deshmukhs were not in favour

of an independent Maratha State and wanted to

remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :

(a) Both (A) and (R} aré frue and (R) is the correct
explanalion of (A),

() (A)is false, but (R) 15 thue.
(c) Both (A} and (R) arevtrue, but (R) is mot the
correct explanation of {(A).
(d) (A)is true, but (R} i€ false. g;%%
[=]x2

Which of the following reasons caused catastrophic
coral bleaching and mass coral deaths in the
Andaman and Nicobar Islands ?

(a) Increased industrial activities in the coastal
regions

{(b) Increasc of 2°C temperature in the Indian
Ocean

{c) Heavy marine pollution

(d) Decrease of temperatiire by 4° C in the Indian

Ocean )

S |
Consider the following statements with
Ashoka - ~

§
l. The definition of Dhamma given by Ashoka is
taken from “Rahulovada-sutta”,

" :
In the 14" year of his coronation, Ashoka

appointed a  pew type of staff, called
Dhamma-mahamatras.

respect to

(&

Which of the above staternentg
() Both 1 ang2
(c)y  Only

isfare correct 7
(b) Neither 1 nop 2
(d) Only2

s TR

‘m

17.

18.

19.

20,

‘R.

sy SR, 1891 & wod | ff,

et

ot ot fererrC AT : .
1 Waﬁf%ﬁw@rﬁ,mm;
i Zr arey TR Rt F gew oy
| g T e fa

@ (b) ?ﬁ]qﬁ?

© Faal (d) | 3T 2 <t

F 2 e g e &, S O O 1 SR (A) T
R H T (R) FET L |

siftre (A) : Rrarsht = o3 v & fader oot am
EZIREN

HRT (R) : ¥ TG @6 70T U F vy 7 T 4

S Sl 2 G & 74 W 9red o |

e fg e e W & A I g

(@) (A) AR (R) qET At € 3t (R), (A) F T
ST AT € |

(b) (A) T E, g (R) TET R

(€) (A) St (R) EFT W &, By (R), (A) I T
T 7eT T € |

@ (A)EE FgER) T

SHEHIA T bt Siee % Freiferfaa o & Reg 5o
gwﬁm%wammﬁﬁmﬁaﬁ
2

(@) T &R e it & ofy %%%
(b) %ﬁ:ﬂ‘ﬁ’mﬁﬂ%ﬁmﬁz"c?ﬁaﬁ

(c) mﬂ‘v'rmﬁzrua;grur )

(d) %Hqﬁrﬂm%‘mm:rﬁfcﬁw
mﬁm%mﬁﬁﬁﬁ%ﬁmﬁqmﬁﬁq:

L o= I om o
UG § o
2. mﬁwﬁﬁaﬁﬁnﬁaﬁﬁmﬁwﬂ

uftqrar & ®, ¢

TR U I SR 3 ey 1 Fafer 4
T 3 A T e 3
(@ 13Mm2en (b) FdT19¢2
(©) Faw) W) e

e

2}
B
21.

22.

23.

24,

25.



21.

2.

23,

24,

25,

‘m

Which one of the i ‘i i
e o ¢ following is oy correctly
(a) Anfclc 153~ Office of the Govemnor
(b) Article 154 - Pyecptive Authority of the
5 A Governor
c ricle 135~ Removal of

i i th '
(d) Article 156 - B

Term of the Governor

Which of the following
Constitution of Indig ?

1.

isfare  stated

in the

The President shall not be a member of either of
the Houses of the Parliament,

2. The Parliament shall consist of (he President
and both Houses,

Select the correct answer from the codes given below :
(a) Bothland?2 (b} Only?2

¢) Neither 1 nor 2 d) Only1 Eye
© (d) Only e

Consider the following statements :

An Amendment to the Constitution of India can be
mitiated by the ;

1. Lok Sabha 2,
3. State Legislatures 4.

Rajya Sabha
President of India
Which of the above statemenls is/are correct ?
{a 1,2and3 (b) land2

(c) Only1 (d) 2,3and4

Which of the following are the functions of the
Election Commissioner of India ?

1. Conduct of elections for the posts of the Speaker
and the Deputy Speaker of the Lok Sabha and
Deputy Chairman of the Rajya Sabha.

2 Conduct of elections of the
Corporations and Municipalities. i f

3. Deciding on all doubts and disputes arising out ©
the above elections.

Select the corrcct answer

Municipal

from Lhe codes given below :

(a) 2and3 (b) 1and2
(c) land3 (d) Noneof the above
Which one of the following s not correctly
matched ? |
_ Planning at the
© (Cji:'lfr;ﬁ-ittlézo Block Le":;.l
t
(b) Dantwala Commiltee -~ Rural Credt
i _ panchayati Raj
(¢) Santhanam Commitiee Pancha

— Panchayali Raj

< ta . -
Ashok Meh Institutions

Ccunlnillt_?.u_?___

-

(d)

[ x

D.STF-1-23

Preso & & o e g et 2

(a) =% 153 - -

(b) ¥FEIS4 - R AR S -

(c) ¥FTDTIS5 - UwEEIA F w2

(d) =156 - T Rty o)
LM

vive 3 wifr & Frrforfm i & 7 aefrm 272 2

L. nqwﬁf#qa%.-ﬁmﬁnﬁmmwwﬁ-gpm

2. R ol SR w & fre |

(2) |32 ‘/(é) ¥

(¢) FaA17#2 (d) e |

21,

TSI 1 95

22,

23. fefeiaa e w fem i :

AT wfeee § 8 e o o 9y fRr s
EETINE

1. g’ 2. US4 BT BT

3. usg fauE-sEs g 4. SNRG o Ui 50

s i & AR S 273 2
(a) 1,233 f‘-’? by 1312
,© FE] o @ 233ms Eym

¢ [=02

24, s e ot P & e £

|, olteh TN W e I IuTemE T USY W F
IFETTie o 951 = fo et = |

7. T uileEel R R P F g fEte
T |

3. I Pafem & s wft weE o fomwt
e |

=) R g e J & Fel I YT

(a) 233 L_ff (by 132

(© 133 ‘2 @ aer i A A

ss. e A R
() shevE Tk - s T R
(b) e AiHfd ~ JTefor e
() T afiia et T
(d) @i - LERRE K

?i‘

mmmrEEEmE S



7.

28.

29.

. nce of
Which of the following is the correct seque

phases of Biotic succession ? .
(a) Ecesis — Migration — Recaction — Slabilisation
(b} Ecesis — Migration — Stabilisation — Reaction
(¢) Migration — Reaction — Stabilisation — Ecesis

(d) Migration — Ecesis — Reaction — Stabilisation
LY

N _ 27.

Given below are two slatcmcms one is labelled as
Assertion (A) and (he other as,Reasun {R).

Assertion (A) : Relative humrdlty decreases with
increasing air temperature, \ &

Reason (R) : Absolute humidity increases with
increasing evaporation.

Select the correct answer from the codes given below :

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A),

(A} is false, but (R) is true.
Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.
=g

3

Which one of the fnl]owing::iﬂ'%borrectly matched ?
(a)
(b)
(c)
(d)

()
(c)

(d)

Ececline —

Bigdiversity
Sea‘water density

Pycnocline —

Thermocline  —  Air temperature

Halocline —  Sea water temperature

Match List-1 with List-II and choose the correct
answer using the codes given below the lists :

List-I List-IT
A.  Planting Hearih 1. Hungary
B.  Cryophyte Steppe | i““ } 2. Adolf Engler
C.  World Floral Regmns ””h 3. C.0. Sauer
D. Puszta Grass = i

ssland o= 4. Arctic Tundra

Codes : e

A B ¢ p-
@ 4 3. ;5 1
by 3 4 2 1
(cy 3 4 ] 2 ByE
iy 2 3 4 =3

28,

~a) THEAET -

29.

()
(d)

43 3 s R &, o O st
Eﬁﬁw(@ww%

ferarert (A) : WA ST A 6 T iy
grrHEt s | |

T (R) : Wﬁqﬁ%mﬁﬁamh
BT R |

ﬁ%ﬁqrrqqgﬁﬁ‘ﬂ'ﬁaﬁ?ﬂﬁm:

) (A) 3T (R) FF T E, TR (R), (4)FF
T 78T FAAl € |

(A) Tiea 8, T (R) WET & |

(A) 3R (R) ST & & 3R (R), (A) FF
ST T € |

(A) W& &, FoFm (R) e B |

(b)
(c)

(d)

_ B
Fraferfied & & o gt 32 2
-t

YT STt wee

1Y T AT

(b) UEFERATEH -
() odiwemss  _
(d) TRy

A el a79aH

Wfﬁﬁrwmaﬁaﬁﬁqaﬂwﬁmﬁ'

Wﬁﬁmmqﬁmﬁﬁq
Tl gefi-1l
C. ﬁﬁ%g&nﬁqa—,{ 3, ﬁaﬁmﬂf
D. &S u fary 4, SERFE
A B c D
(‘3:' 4 3 2 1
® 3 4 2 1
¢y 3 4 1 2
L SRS R RN R

31.

32.

33.

------

P - v T -
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Which one of the following pairs (Alumitiam

D.STF-1-23

Plant — State) is nor correctly matched ? i xﬁﬂﬁﬂﬁ =0 {i@ﬁﬁ'ﬂ'ﬁ[m_m} 7w
(2} Alupuram (Alwaye) - Kerala '“T}ﬁﬂﬁm“ﬁ%" “
. (a) AGLH (AcTaT) G
(b) Belagavi ' Kiictutika %%E?ﬁ ~
{c) Muri ~  Chhattisparl (b} =T
(d) Hirakud _ Odisha = ~£e) ‘i@ - BT
(d) €Fs - LIER
31.  Which of the following pairs (National Park -
State/Union Territory) is ner correctly matched ? N, PRl i @ Fam - TR/EE-OsT 89) 9
(2) Rajaji —  Uttarakhand A gim e
() PinVally — Jammu and Kashmir .’{a] TITSA — FWRES
(c) Bandipur —  Kamataka OREEES = Gﬂ_@m
(d) Simlipal - Odisha (c) I — FTEH
@ Rmefmer - sifsm
32. Given below arc two statements, one is labelled as L
Assertion (A) and the other as Reason (R). 32, e % fewmy &, Fordt & ues 1 S (A) T
Assertion (A) : The Himalayas arc still rising. aﬁﬁa}}m (R) I AT |
Reason (R) : The Indian tectonic plate is colliding EW{A) : Temrers anft SR
with the Eurasian plate. RO (R)% Wﬁm@@mﬁzﬁm@
Select the correct answer from the codes given below : 2!
(2) Both (A) and (R) are true, but (R) is net the frer Ry e F & W SR AT
correct explanation of (A). (a) (A) 3K (R) eFT T8 3, R (R), (A) FT w
(b) (A)is falsc, but (R) is truc. e 7 A E |
(c) Both (A)and (R) are true and (R) is the correct ®) ()Tt g ®) TR
explanation of (A). 9 (A) ¥R (R) SH = 2 aflt (R), (A) F1 W&l
(d) (A)is true, but (R) is false. AT S | _
(d) (ﬁl}ﬁﬁ%ﬁﬁ, (RyTIAa & | E’%%
33.  Match List-] with List-Il and choose (he correct |33, gll-1 -1 & Al HifT ﬁ“ﬁ_\fﬁﬁ%:ﬂ%ﬁq
answer using the codes given below the lists : ) W@ﬁﬁ“ﬁﬁﬁmﬂﬁq
List-1 List-TI E%% Eﬁ‘:’l H.?&-H
(Coal Resources) (States) = (ﬂ%}' Y31 A=)
A. Hutar 1. Madhya Pradesh A, Bl 1. TET W
B. IbRiver 2, Chhattisgarh B. @E 2. AT
C. Tatapani— Ramkela 3. Odisha C. Oy -TEeET 3. SieEm
D. Umaria 4. JTharkhand D, Jufem 4 FWEE
Codes : T :
A B C D A B C D
@ 3 2 4 1 @ 3 2 4 |1
m 2 1 3 4 ® 2 1 3 4
© 4 3 2z | © 4 3 2 1
0« 23 oo © 4 2 3 U

......................
-------------------
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34.

b
Lih

36.

7.

‘m

Match List-1 with List-1l and choost the correct
answer using the codes given below the lists

List-1 List-11
(Canals) (Rivers)
A. Upper Bari Doab Canal 1. Sutlg)
B. Sirhind Canal 2. Yamund
C. Gurgaon Canal 3. Sutlej, Ravi, Beas
D. Indira Gandhi Canal 4. Ravi
Codes : LN
A B C DL
i)
(a) 4 1 3 24
M 3 2 1 42
© 4 1 2 ?‘!
(@ 3 1 2

Which one of the following  pairs

(Crop — Peculiarity) is not correctly matched ?

(a) State where rice is grown  — West Bengal
threc times in a year

(b) Bihar’s contribution to - 15-7%
rice production

(c) State with largest area — Uttar Pradesh
under rice production

(d) Isohyets thatdecide =} — 100em
western limit of rice fﬁ‘.l
production -

]

Consider the following stafeients with reference to

cotton crops : ™

1. Cotton is mostly a Kharif crop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.

Which of the above statements is/are correct 7

{a) Bothland2 {b) Neither | nor 2

(c) Onlyl {(d) Only2

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) ;: Red soil A{::i}otes the second largesl

soil group of India. "

Reason (R) : Red soil surramhds the black soil in the

south, east and north dircctféﬁ ﬁ

Select the correct answer [ropm jhe codes given below :

(a) Both {A) and (R) arc true and (R) is (he correct
explanation of (A),

{0} (A)is false, but (R) is true.

M,

35.

36.

3%

D.STF-1-23
el e &y i fom i g 3 A fn
aeft-1 eIl

(TEC) ("fﬁ"'ﬁ)

A, T = T qagS

p. @ifEsE Al

C. TEiE T . oagd, U, =

e E

“ A B C D

(a) 4 l 3 2

® 3 2 1 4

@ 4 1 2 3 ]

{fl] 3 1 2 4 é‘%‘i

Pl g (e — ) § & A

AT 7ET & 7 i ‘

(a) THed AEEERI AR — ofiem =
et & FreT Usd

(b) ST ScdTEd 7 SR ~157%

(c) ST SeTe o ATefi _ IR
Hatlre S e T

(d) ST SedTad <ht Ay — 100%Ht
i freife e aelt
e LR LG

FUE BEAl % geY ¥ Fefefad s W
Hiferg -
T T T A S |

1,
2. FUW % ST & TAQ S 50 T 75 et &

e TNT Sh SISl Bl & |
I H R - o e 2 2
) 132 R ) TA TR
© %l (@ F=w2

12 2 et R T E, ot 8w  arfivere (A) T
LT O (R) FETRTR |

AU (A) 2 TS HRT, WA o S5 g=e 98 951 9
Frenidl 2 | h e

AT (R) :WW-WWﬁEW,TfBﬂTW
el &g R

(@) (A) AR (R) T @ & s (R), (A) F
ST FLAT & |

() Both (A) and (R) B , ®) (A)yTemE, T R TR
cnrr-.:sct explanationi?(;)_e’ ey ILHI: the (c) (A) i (R] Gk %, ﬁﬂ (R), (A) &y wdl

_________ (d) (A)is true, but (R) is false, B i mﬁgﬁ‘ﬂi | 5
e L AL AR VELE JEIMR)IeE]l ;

s

38.

3



3
T 35 Match Listl with Listll ang
i choose the correct | 38.
answer using the codes given below the lists ;
Lstd List-11
(Name of the Cigy) (Period of being
Planned)
A. Kanchipuram I. Post-independence
B. Jaisalmer 2. Colonial Period
C. Kodaikanal 3. Medicval Period
D. Bhilai 4. Ancient Period
Codes ;
A B C b
(a) 2 3 4 1
d 4 3 2 1
() 1 2 3 4 NiyE
@ 3 4 1 2 i
39. Match List-1 with List-II and chocse the correct
answer using the codes given below the lists : 39.
List-1 _ List-II
(Famaus Local (Placeidrea)
Storm}
A. Mango shower 1. Punjab to Bihar
B. Blossom shower 2. Kerala
C. Norwesters 3. Karnataka Coastal Areas
D. Loo 4, West Bengal
Codes :
A B C 1]
(@ 3 2 14
0 4 1 3 2
ey 3 2 4 1
@ 1 3 2z 4
4, Which of the following pairs is woi coreclly
matched 7 H),
Capital Country
(a) Naypyidaw ~ Myanmar
(b} Kharloum —  Ethiopia
{¢) Dublin - Treland
(d) Ouawa ~ Canada )

‘m

____________________________________

D.STF-1-23
A1 gt & e il s gf R fRa
U 2 T HAFT L HE I i ;
Teft-1 s ]|
(TRFTH) - (@ TG T i Sy
A, g ;21 e el
B. Swerit v 2. iRfiEwe
C. ﬂﬁ?lﬁﬂ:‘—rlﬁ-%:3 T
D, s Fle e
E T4
A B C D
(@ 2 3 4 1
® 4 3 2 1
@ 1 2 3 4 %ﬁg
@ 3 4 1 2
Ay
W—Iﬁﬂﬁ-tlg Hifir s wfrit & 9 fig
T 2 1 WA e S ;
-l ;51} TEt-11
(WS T ) (EHTA/5H)
A. st . o feas
B. et arel e 2, =
C. Fre-aemt 3. T ARS8
D 7 4. ofimeme
kT
A B C D
@ 3 2 L;;‘;’l 4
o 4 1 0B 2
g 3 2 & !
o1 %
et & & - gm v gAfea 7eT € ?
TrRUTAT Lt
() Tt - A
(b) @A - i
(c) Eafert - HARE
(d) @t - FE




41.

43,

e ‘ m

12~

D.STF-1-23 %ﬁ

i 3 By T ST a7 ¥ gl 1 Frfefm 44,
Consider the following statements wilh reference L0 41. a:,?ﬂ"i!"ﬂ ﬁﬂﬂ"‘\‘aﬁﬁm
Upper Gangetic agro-climatic region : | ; e & ¥ 1L qﬁﬂrﬁmﬁﬂﬁﬁﬁﬁ% |
1. This region encOmMpasses central and western : @ oy it § et 130% I mwzﬁ‘g
Uttar Pradesh. o 2. kil 140%% |
5. This region has more than 130% irmigalion 9 & IR
intensity and 140% cropping infgnsity. :ﬁ%ﬁqmﬁaﬁ (b; I 12
bR . T 2
Which of the above statements is/are ;t;g’:}lrecl 7 A2 1 ¥R 4 3 2
(a) DBothland2 (b) Neither;ll nor 2 () heret | @
(@ Onlyl (d) Only 53'5
([N
g2, o F R & g she gftedt A e
Match List-I with List-I1 and choose the correct mmﬂmﬂgﬁmgﬁq:
answer using the codes given below the lists : a=il-1 ﬂ;"ﬂ""
List-1 List-1I ETD (FHE el A F=r)
(Pass) (Height from Sea Level) A, e 1. 53607T
A. Debsa 1. 5360 metres B. i 4850 Hit 45.
B. Rohtang 2. 4850 melres ' :
=T 3. 3978 HIX
C. Bara-lacha 3. 3978 metres ; C. a1
D. Banihal 4, 2832 mcnesﬁ; D. afFEE _—— 4 28327
Codes : E_)ﬁ' Fe ¢ G
A B C D <3 A B C D ‘é’%@
@@ 1 3 2 4  © @ 1 3 2 4
m 3 1 2 4 A 31 2 4
@ 1 4 2 3 E@ € 1 4 2 3
@ 3 1 4 2 . @ 3 1 4 2
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R). 43. :ﬁa;:; Fo T T &, TS0 & e o A (A) 7 o
Assertion (A) : Jute is an indigenouslp}l‘]anl of India. " (R) T
= FTTRYT (A : 91 T o faerg i
Reason (R) : Jute is a Kharif crop sown [rom (A% g e & i
February 10 June and harvested from E_Ety to Dctoiaer. (R) : ELE Gl i\?ﬁ R _\[ %+ I[EERE il EE‘ H |
Sel 3. T ST & ST ST & SRS 3 ey ey v € |
ect the correct answer from the codés-given below : =
(@) Both (A) and h ﬁﬁqﬂ‘{'ﬂﬁ?ﬂﬁﬂ‘a“lm ﬂiﬁq :
oth {(A) and (R) are true and (R}!is the correct iy .
explanation of (A) ® @ sh (R)%Tﬂ:h R R), ) e o
! T AT & |
(b) {A)is false, but (R} is true, (b) (A) Ted E Fra ®) T3
B , T
(¢) Both (A) and (R) are true, but (R) is mot the (©) (A) ¥R (R) SFT W& &, forg (R), (A) &I il
correct expianation of (A), ST TET FLATE | s
SRl e A (A FRR g () T 8
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wMatch List-1 with List-11 ang thoose the co
gnswer using the codes given below tlye lists o
List-1

. . List-11
(Essavist) {Treatise)
‘A. Devana Bhatta . Dan Sagar
B. Hemadr 2. Parashar Madhay
C. Madhvacharya 3. Chawrvarga
Chintamani
p. Ballal Sen 4. Smriti Chandrika
Codes :
A B C D
o 1 4 2 3 %%%
@ 3 2 1 4
@ 4 3 2 1

D.STF-1-23

-1 = gefi-n & gifem A si il % =
fong e 2z T T W I G

-1 -1

s ()
A FTHE 1. FHEW
B. 2urf 2, THEHTEE
C. wvarrd gy 3. S
D, e & :H 4. wfrEH
@ a

A B ';'-:C D
@ 2 40 3
® 1 4 2 3
) 3 2 i 4
@ 4 3 2 1

45, Given below are two statements, one is labelled as i
Assertion (A) and the other as Reason (R). :ﬁ% ‘a’TE&F{ﬁETﬂI% Tt & e ol AT (A) @
Assertion (A) : Turkish invasion on India was FHUFT 0T (R) Fe TR |
successful. TR (A) : AT T T AR Thel AT |
]Iz?;ll:un (R) : There was no political unity in North HWT(R) : BﬂTﬁT{ﬁWtﬁ?ﬁﬁiﬁmﬁﬁ[ Egﬁ
ELE
%‘%ﬁ ﬁﬁmﬁﬁﬁﬁmaﬁu
- Select he correct answer from the codes gi:vr.:n below : &) () 3 {Rrh Eﬁﬂf i § ®), (A) = wdt
(a) Both (A) and (R) are true and (R} is the corract MW% |
explanation of (A).
p, : ) (A)TERE e () FER
() (A)is false, but (R) 18 true. b )
. | (c) (A) a1 (R) 31 & E, B (R), (A) 1wt
(c) Both (A) and (R) are true, but (R) is mor the AT TE T E | )
correct explanation of (A). A
(@) (AYis true, but (R) s false. @ (AT @) E
A) T ; N ' :
%. Consider the following statements regarding Voice of | 0 sy oper r iy e wifie (SR ge) F 94
Global South Summit (VOGSS) : e T vl st ot feram hifang
- 1. Indi il concluded its 2°° Voiee of . " S
3 & ; ia recently LT ¥ e i T gEa digE Sith e
3 Global South Summit. et wqﬁaaw-:rﬁmh
: - h is related o develope
2. The te!-m Global South is 1¢ 2. WW{E@H i S A wEfE )
countries.
I B Which of the above statements isfare correel 7 :ﬁﬂ?ﬁqﬁﬁ‘mﬁm GaLLE
(@) Only2 () F2 ::I!
5
T (5) Neither 1 nor 2 (b) AT
(© Only1 (c) '
@ Bomiand2 L ( d3|m2€r’ﬁ __________________________________________
y SR TN e SR “q43*

.........
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D.STF-13

o
- b (e IS RN F dd g 2
What does the lntergovernmental Panel on Climate rersa ia G ﬂ;ﬁ liq)ﬁlfr et () P &2
Change (IPCC) emphasize regarding reductions 10 7 l:lﬁ?.lﬁ‘ =R - "
greenhouse gas (GHG) emission ? AR AT E?
1. Gradual and limited reductions are enough. . |, FREE e dfiford el oA
2. Deep, rapid and sustained reduclions are cssential, 5 el @ s et FerdT AETEHFE |
Select the correct answer ﬁ'i.wh the codes given below : e ﬁt{"ﬂi{fﬂ #Jgd I ﬂﬁm :
(a) Both1land2 ;((5 Neither 1 nor 2 ) 1 a2 (b) TaAr1TE2
(c) Onlyl Jd) Only2 Ea) S | (d) T2
K c
What does the term “Cerggﬂ?‘l’icld“ refer to 7 48, S ITE TR FTaE T 8 7
1. The amount of cereal _c‘gqps produced per unit area | 1 qi:q ¥ ufe =18 &% T IEied &S
of harvested land  * ™ ' s o T
2. The total production of cereal crops in a given 53,
country P b 0 el T 2uT T SIS FHAT T el JeAIEd
Select the correct answer from the codes given below : ﬁﬁqwaﬁﬁﬁﬂﬁmﬁﬁq :
{a) Bethland2 (b) Neither 1 nor2 Ta) |1 aflt 2 T (b} JAr1TE2
(c) Only1l (d) Only2 (c) haell @ FTdA 2 s o
Which of the following statements is true regarding 49. 9« -, 2019 3 qiEEiI'q:ai‘ I,E ey 2022 3
the trend of unemployment rate in [ndia between ST SRt & i i & wEa H wietiiga H |
July-September, 2019 and July-September, 2022 ? FIHT FUT TE 7
1. Itremained the same. 1. e iR
2. ltdeclined. LN 2 TEYEME
Select the correct answer from the codes given below : Fir oo e 9 wdt o ;iﬁu‘ .
- - j—\r Ly
(a) 2istrueand 1 is fals€’d (a) 2@ 2SR I TR |
(b) Both 1 and 2 are falsg?
: . (b) 12T TEAEI
(c) 1istrueand 2 is falses it 5
(d) Both I and 2 are nuelE-:j © 1‘;3% ﬁ%'ﬁé' | g%%
. ... ) 132 | Pt
Who prepares/publishes the Global Mullidimensional fref .
Poverty Index (MPI) report ? ) 50. Afirw W LRkl (‘l{q'.tﬁ.eﬂé.] Tl =H
I. World Bank and International Monctary Fund TSR e & 2
(IMF) 1. T == it oraiedar Ty e (s u U,
2. g:é;;% Poverty and World Health Organisation > SIS T aﬁ{%ﬂﬁmﬁﬁﬁaﬁ]
3. Oxford Poverty and Human Development 3. RIS Tt AN ATE e vee (efdtaan)
Initiative (OPHI) 4. 7eh g, oo el (e Ed)
4. Uniled Nations Development Programme ETet
(UNDP) few o 7 & & W s gf _
Select the correct answer frum the codes given .,/(HJ 2 aﬁ{ 4—"""(b) FAeI4 4.
below : L R () 134 (d) 334
(2) 2and4 @) Only4 SeE (51 e R ¥ Rt 6w ) s (A) @
(c) |and4 4y 3and4 " L T F (R) TR |
Given below are two stiteents, one is labelled as sl (A) 1 5T fawm I =l Fewis
issen.iun (A) and the otliers Reason (R). T (ﬂll'ﬁlTTTﬂT | i = i
ssertion  (A) The<itoncept of Sustainable . a, |
Development was populafised by the Brundiland U (R) :mﬁﬁﬁ‘ﬁmﬁm*#ﬂﬁ
Report = m i AT TR |
eason ! The Brundiland Repori is ‘
as * The Limits to Gruwm”im =gt L a0, knarw ﬁﬁqm@ﬁﬁqﬁrmgﬁq; il
SuieclBﬂle correct answer from the codes given below ¢ (a) (A)Tum (F,U' IR we g, ﬁ":ﬂ (R}, (A) f
) Comteaty) and (R) are true, but (R) is not the ST TE i ¥ |
atl
0 (Byis false, bt (R) 1 e, (b) (A)ea e, e (R) W R | o
c . : -
et (R a1 e s (R) is the comect| () (4) 71 (R) I e & 3 @), () H
(@) (A)is true, but (RY is false, ST FAT |
___________________________________________________________________ @ (A", g R

T o R - (L T T, T T _ S

. [ R j— -~ '




M,

‘m

Consider l.hﬂ following events and arrange them in

chronolegical order :

1. World Heritage Day FE
i

2. World Thyroid Day

7. World No Tobacco Day

4 Iniernational Day of Light

Select Lthe correct answer from the codes piven below !
@ 31.2.4 (b) 1,4,2,3

@ 2.3, 1,4 (d) 4,2,3,1

Match List-I with List-1l and choose the correct

answer using the codes given below the lists :
List-I List-11
(Person) {Reason)
A, Gopi 1. First Indian Gymnast to win
Thotakura Gold at Asian Championship
B. Dipa 2. Indian born NASA scientist
Karmakar who led ihe team to study
solar ecliptic impact on
ionosphere
C. Arch 3. First Indian Space Tourist
Barjatya

British actor who made his
directorial debut with thriller

D. DevPatel 4.

“Monkey Man”
Codes :
A B C D
& 4 1 2 3
() 3 1 2 4
() 3 2 1 4
(d 2 1 3 4

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) During 2023 —24, Singapore

emerged as the largest SOUree of FDI to [ndia.

Reason (R) : The India — Mauritius Tax ']:reaty

amendment has brought a major shift in countrics as

major sources of FDI to [ndia.

Select the correct answer from the codes given below :

(3) Both (A) and (R) are true, but (R) is mef the
correct explanation of (A).

() (A) is false, but () is Lrue.

(c) Both (A) and (R) are true and (R) is the correcl
explanation ol (A).

52.

53,

«1a)

D.STF-1-23

ﬁﬁﬁmﬁaﬁﬁmmgﬁt{e
(a) 3,1,2,4 by 1,4,2.3
() 2,3, 1,4 () 4,2,3,1

Y
i1 =6 eI & e R s g & i f
T 5 T ST A IR
eft-1 s ]
. (=3to) ';;’J (FI7T)
A. T dRETET Afeqetira el et
AT ] YT e
2. 9RA 3 5 NASA 1S
fen AT WHR
ST 3 IS Tl I T
ATt Z 19 e e AT
et AR i Tew

d

B. &

{b)
(c)
(@

5 21 o fou e €, Sen uE S S (A) 99
T I T (R) FEI I |

aTfTeRer (A) : 2023 — 24 % S THT, s § FDI
F A TG G T IHT |

HTOT (R) : A — ST T Sty dyne § wid |
weaer ey Fider (FDI) & W@ el ¥ w9 a1 A
o S ARTE |

R e A A s

T8 I AT R S R = }
—_— hd = =
A
B SR N S |

@ (A) T RYRERT wd B ), (A) B
Wﬂﬁﬁlﬂ?%l

(b) (A}naﬁ%,‘r(af,"—fg(ma'apr%t

© (A) T (RY AT wE A R), (A) BT
Tl T E |

) (A)EEE g @) TEm R




56.

57.

58.
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What is R21/Matrix-M™ 7

(a) Vaccine against Malaria developed by Serum
Institute of Tndia

Vaccine against Malaria developed by Bharat
Biotech International

Vaccine against AIDS developed by Serum
Institute of India

Vaccine against AIDS ‘'developed by Bharat
Biotech International ;;:1
i

(b)
(c)

(d)

P

L
Who among the following won the best actress award

in the Un Certain Regard Gdtegory of the Cannes
Film Festival, 2024 7

{a) Kiara Advani
(b)
(©)
(@

Anasuya Sengupta -
Urvashi Rautela
Sobhita Dhulipala

With reference to RudraM-I1I Missile, which of the
following statements is/are ¢direct ?

1. Ttis an air-to-air missilg; ;

2. Itwastested in Rajasthantin May 2024,

Select the correct answer us m}g_J_he, codes given below :
(a) Only2 (b)"*.iNeither 1 nor 2

{c) Oniyl (d) Bothland2

Match List-I with List-IT and choose the correct
answer using the codes given below the lists :

List-1 List-I1
(Newly Elected Head {Country)
of the State)
A. Gitanas Nauseda 1. Iceland
B. Luong Cuong li92.  Vietnam
C. Halla Tomasdottir 'Er'l Lithuania
D. Jose Raul Mulino ..,_54. Panama
Codes : )
A B =
C  D-y
(@) 4 1 2 3
(b) 3 i 2 4
cy 3 2 1 4
3H0|
d) 2 1 3 4 E_%a

55.

56.

57.

58.

D.STF=1-23
R21 MMz R ?
(@) ﬁmmmwmﬁ? 7
fiaem® 2T
o) A SO A R e
Tl T
() W g S YR a0 R O s
faes e

(d)

e &=

Frferfiaa & © gy T fsew Sfteas, 2024 % 39

T forE = weare STRMA o g ST ?
(a) Temamer HArSaof i
(b) ST ST e
(c) g Tadr
(dy wifiar gfemren
-1 Taase & o=t o fefefes @ 9
T GE &% 2
1. % §aT-U-8AT H HR & Tl e R
2, SHEIIEN S 2024 § UeRH H fRr T A
A& Rz & fad s g
(a) a2 (b) T 172
(€} @A (d) 132 3t
@-Ia?‘r@?-uﬂ'g&%aﬂ%maﬂmﬁﬁf%ﬁﬁq
I %2 1 TET T HET I I

qLI -1

(3 Rl 1 ¥e) G
A. T e 1, smEde
B. @aﬁ%ﬁ 2. foraaTm
D. mmﬂﬁ'—'ﬁ 4,  9MHT
o

A B C Db
(@) 4 [ 2 3
(®) 3 | 2 4
() 13 2 1 4
d) 2 1 3 4

------------------------

R N e
[ ST el T

(i Bt e R o

BLIT ™

el=1r

n i, F T -1 T

. 2 ,
w A L §



T3
T %

T

A"

T |

= o

.59

i

]}eculiarity) 18 nof correctly matched ? o
(2) Depth of middle trap - 120p ——
approximately
(p) Intertrappean beds = Fossils of sea plants
and animals
() Depthoflowertrap  — 150 metres
approximately
(d) Depthofuppertrap - 450 metres
approxirmat
proximately 60.
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Jet streams discovered during World
War I1 are high altitude easterly winds,
Reason (R) : Jet streams flow with a speed of
300 — 500 km/hour.
Select the correct answer from the codes given below :
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).
() (A)is false, but (R) is true.
() Boih (A) and (R) are true, but (R) is not the
correct explanation of (A).
(d) (A)is true, but (R)is false.
al.
Match List-I with List-1I and choose the correct
answer using the codes given below the lists :
List-1 List-II
(Coum?}') (;Muunmin)
/A, Spain — France 1. Alps
B. Switzerland 2. Apennine
C Bulgaria 3. Pyrenees
D. Ttaly 4, Balkan
Codes :
c D EcE
- %
@ 3 1 2 4
B 3 1 4. 2
® 2 3 1 4
W 4 1 2 3
___________________________________________________________ * 17 ks

which one of the following pairg (Decean Trap

D.STF-1-23
Prferfiaa gt (e 37 — Fedan) 3 & SH-A1 661
R TE 2
(a) meAdgdrdEd - @ 1200 Hie
(o) FiFwemgdiaa - AT Tt o SRt
, -t % =9 (SfarT)
(c) ﬁﬂf%ﬁﬁﬂ?ﬁ‘ — VAT 150 Wiex
() FTITAE - s 4s0tier
)
1 By e FRw T ¥, o | O it AR (A) T
ZEFY B (R) T TAE |
st (A) : i frva ga % 4 @t T e
T, ol e T el T o e g ¥ |
W[R}:%Emmﬁiﬁmﬂﬁaﬂn-snﬁﬁﬁﬂhﬁ
AR | |
ﬁﬁt{wgﬁﬂﬁa’rmgﬁq:
@ (A) FIE I T AR (R), () TRkl
EﬂT@Tﬂ?ﬁﬁ%l
(b) {A]W&“ﬁlﬁm}ﬁﬁ%l
© (A) 3t @) 2HT @ € g ®), (A) F &
STET T AT & | i
@ (A)EEE R T @‘gﬁi
@-lﬁ@-tlﬁgﬁ%ﬁﬁqaﬁtqﬁﬁ#ﬂﬁﬁq
TR oz T T W S g
-1
(Fea)
A. e
B. AT
C. o
D. oA
q.-t? H
(a)
AD)
(c)
(d)
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65.

66.

67.

68.

69.

70,

71.

%.& ‘ m [*
- e e AT o 3 ST T FEA € 2
Plants and animals that live on land are called : 62. (:\}
. a) 3T

(a) Abiotic - b) A e

(b) Aquatic habitants Bt

(c) Terrestrial habitanis _ .

(d) Biotic d) e R N

. T ard o & fireredt @
The joint where the neck joins the head is : 63. Erj'sﬁg Siel e © Besio
B . = + . ) a |aai i;l = E! g Ei T
(a) Pivotal joint (b) Saddle joint ( i R
{c) Hinge joint (d) BaII and sockel joint () fewr sirg (d) STCH *
9 TN EHSH B

The diseasc-causing mlcmorg’imsl!l among these is : | 64 & 4 AT T b o i

(@) Archaea (b) Pathogens (a) N ek (b) Ty .

(c) Bacteria (d) Protozoa (c) «=ifer (d) SIS

dipedis -
4] = E 3 o

MilK is an example of : iy 63. I¥FHH SELEE y

(a) Foam (b) Sol @ M (b) et e
(c) Aerosol (d) Emulsion () - (d) wHT Eﬁiﬁ
The formula of baking soda is : 66, of lﬁaﬂ@%:

(a) KHCO; (b) NayCO, (a) KHCO; Aqgih) Na,;C03

(&) K,CO4 (d) NzHCO, (c) K,CO; k) NaHCO;

CPR stands for - 67. CPR (931 F e & -

(a) Cardio Programme Rescue . () IS S AT

(b) Cardiac Pulsatile Revision, 1, (b) TSI TeeTse Tl

(c) Cardiopulmonary Resuscitation 2o ~4C) E!ﬂﬁll}qif'qmﬂ'g‘—ﬁfh:r

(d) Cardiopulmonary Revisior * _.{r [ (@ FIlEaes = gy

-
68.

The only vein that carries oxygefiated blood is
(a) Pulmonary vein
() Cardiac vein

(b)

Gystic vein
(d) Hepatic Portal vein

Diabetes is the most common disorder associated

with : 69.

(a) SeHET fimy (b) fafesfirg
() =fda fimy Ad) T vide finr
qﬂﬂﬁﬁﬁﬁa@ﬁmﬁmﬁ.mﬁaéﬂ%;

(@) Kidney (b) Gall bladder (@) FaHH (b) Fremmy

(c) Liver (d) Pancreas () TFaH Ad) T g

The recent global pause during COVID-19 pandemic 0. T & 7 Fifs-19 HEMRT % oy A frm =
was caused due to ; . RUCEE

(@ SARS-CoV-1 (b} HSNI {2 SARS-CoV-l () usN]

{c) SARS-CoV-2 (q) Mgns CoV-2 (€) SARS-CoV-2  (d) MERS_(Cov-2

A bus covers the first half of a -::erlzun distance with | 71.
Speed v, and the second half wuh a speed v,. The

averape speed during the wholejuumcy 15
'\-! Vz 'b:"-" Y
@) b ZiY)Va
\'l + \"2 -( } \-"J _"' 'r'z
Vit v
() L7 Y2

qaawt{eﬁﬁrﬁaﬁaﬁeﬁ%eﬁamﬂeﬂ‘ PRUEER
ﬂ%ﬁﬁ?ﬁﬁnmaﬂ%ﬂaﬁ vqwﬁrwww%:@w

 s7er <) st fa gt 7 2 ?
""I Vz 21!"] Vo 9?%{.;1‘
b Fi
{Et] v + Vo "( ) v + vy \4\
\"t + Vs
P 5 @ vy



el The Vision

o

1 " iwhich one of the following pairs i not correc| D.STF-1-23
i orveetly \ 72, i o Y Rt % dae § Sttt
Ramganga o 4 - e e e 2 o =

matched  tegarding  peculiarities qf

. project ?
(@ Dam’s length B (a) ater e send _ g25-8 T
%,{b) Hydropower generation  ~ g MW = (L) ﬁl?lﬁ'{l}r whh I - 198 WA
'. capacity BT LA
(c) Location . o () Rufa op — A (STET)
o arhwal . )
(Uttarakhand) (d) fRfferr & - G RRE
(d) Imgated area - 6 lac hectares -?—
™l
7, Consider the following statements with reference to 73. ﬁlﬁ.ﬁi %o i F Fiua g6 F g § Prefdfad
cultivated area of some countries of the world : T ot farem i -
: _ 1. USA, = it smam £ germn & wia 1 Fia
1. Incompanson to USA, China and Japan, India driifers &7 stEa 2|

has highest geographical area under cultivation,

2. W HEH SeETg S H i g o s

2. India’s location in tropical monsoon region 1 & on [ faefiee wHaTEA BT E |
helps diversified cropping all through the year,

Which of the above statements ds/are comeet ? Wﬁﬂﬁ_’rﬁﬂ% T /8 7
7 (a) Both I and 2 (b) Neither 1 nor 2 (a) laﬂTZﬁ% ®) TR ITR2
() Oulyl (d) Only2 '5 \
; (€ W=l F (d) Fae2
Hf Match List-T with List-Il and choose the comrect ™
answer using the codes given below the lists : 74, H.?ﬁ'-l = @_ﬁ & ‘-El,ﬁﬁﬁ T ﬁ i3 R
List-1 List-IT 0 5 o1 ST 2 e SRR :
(Place) (Confluencing Rivers) TEFT-I
A. Devprayag 1. Alaknanda and Pindar ()
B. Rudraprayag 2. ﬁ.u]aknanda and A TFTEATT
Bhagirathi 5
C. Kamaprayag 3. Bhagirathi and .
Bhilangna
feedl
D, Tehri 4. Alaknanda and D
Mandakini a2
Codes ; o "
EGE
& B < o E:-I.%ﬁ () 4
@ 4 1 3 P
® 2 3 1 4 © 4
© 4 1 3 2 @ 2
2 4 1 3T



5.

T6.

7.

78.

79.

2ea

................................

‘m

Consider the following statements with respect 10 the
climate of Western Europe !

1.  Western Europe receives rainfall in all months.

2. Western Europe is léédted in the belt of
o

Westerlics. t:r;
Which of the above statements is/are correct 7
(a) Bothland2 (b) Eﬁailher 1 nor 2

(¢) Onlyl (d) ("Qnly 2

Consider the following mountains and arrange them
in correct order from West to East by their location :

1. Karakoram 2.
3. Hindu Kush 4,
Select the correct answer from the codes given below :
(@ 2,4,3,1 (b) 2,3,4,1
(c) 4,2,3,1 (d) Eﬂt 1,2,3 E%%
=
Which one of the following H;g;s (River — Direction)
is nof correctly matched ? <[

(a) - N{;I‘kf\'l -East
1)) North-West
(c) North

(d) South-West

Pontic
Zagros

7.

Amur river
Syr Darya —
Angara river -

Mekong river —

Which one of the following 78.
(Country — Qil field) is not correctly matched ?
(a) - Haif'Kel

(b)
(<)

(d)

pairs

Iran
- Kagl‘l‘lrt;gan
Saudi Arabia - Dh@an
Irag

Kuwait

—  Zubdir
- N
79.

Consider the following statemenis with reference 1o
Mediterranean climate :

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to

the South,
Which of the above statemenis is/are correct 7

(a) Only2 (b) Neither 1 nor2

75.

76.

.........................................................

D.STF-1.33

qﬁaﬁ@qﬁm@ﬁ?#ﬁﬂﬁﬁﬂﬁf@ﬁwﬁm !
A il :
1. qﬁﬁqﬁﬁﬂ‘ﬂﬂﬁﬁﬁ&ﬁﬁ?ﬁ%l

2. Ofer o e YRl A7 Ut o S e
mﬁﬁﬁﬁﬁ?-mﬁwaﬁ%%? |

@ 132ER (b) TATITE2

© Fadl (d) a2

Prerffas gt v frar $Ifg o % 7 WH
g oferm & Qe oY AR et s A saiera o -

1. T 2. diftew
3. Tegm 4. wHE
ﬁmﬂﬂ@ﬁﬂﬂiﬁﬂﬂﬁ&

(@ 2,431 ) 2,3,4,1
(© 4,2,31 (d) 4,1,2,3
forafertias T (e ofit SwhT e femm) § § F-a
gt gafoa 7 7

(a) 3'1"[5?4??[ - 3?1'{_1:5‘

() Resfm - FwoaREw

(c) mU=Et - IW

(d) T - FfraREn

ﬁm%@ayﬁ@w-ﬂaémﬁﬁaﬁﬂ-muﬁgﬁﬁa
T T 7

(@) = ~ eE ¥
(b) Faa - FErE
(c) IR - g -
(d) - i B

RAHPREY weeTy % e #§ Freifefaa seFt w
feremy Fifaa

1. el wfteg & awi gt &

2. ST 7RI & FROT AT Aft i &
SR Raws s € |

I G -G F T8 2
(a) Helel 2 (b) FA 12
(c) FaA1 (@ 1328t




‘@

4

g {W:th reference to the Anti-Maoijst operation that ook
placﬁ in Apol 2024, which of the

lollowing
I statﬂm"“ts is/are correct ?

Tk It took place in

Maharashtra.

Gadchiroli  disiriet of

!

. The operation was launched by BSF apng

: District Reserve Guards.

$Se1wt the correct answer from the codes given below -
@- Only2 (b) WNeither 1 nor 2

4 {c} Only 1 (d} Bothland2

e

With reference to “PraVaHa" software developed by
5 . :

ISRO, which of the following statements is/are
prect 7

It is a path-breaking feat by Vikram Sarabhai
Space Centre.

2. Tnitial aerodynamic design of space vehicles
b requires evaluation of large number of
‘configurations.

= eIect the correct answer from the codes given below
\ (b) Neither 1 nor 2
(d) Bothland2

" Given below are two statements, one is labelled as
: ssertion (A) and the other as Reason (R).

A '..'Emon (A) : In April 2014 India delivered the

-?} Both (A) and (R) are true, but (R) is not the
o correct explanation of (A). %
'F‘" ) (A)is false, but (R) is true. h

:"" _c] Both (A) and (R) are true and (R) is the correct
' explanation of (A).

g,

81.

82.

bolk (@ (A) is true, but (R) is false.

---------------------------

D.STF-1-23

e 2024 T 7Y wolare-RRE siidem & wef #
Frferfam o & SF-m@ o a2 0

. e wewTy o et Rt & ger o

2 % S BSF (RTETw) T ffg o
T Fr R |

% o v e 4
() ¥aer2 ;{j (b) T IAE2
{c) el | (gf] HT 2 BHT

Tl g FefiE “PravaHa” €909TC & @l H

Freferfiaa & & SR a@ T v 272 7

1. 92 FerT aaTs siafe #0711l S9stted
&

2, sl AT B i A R 3 g
ﬁmﬁﬁmm%@mﬁwwé?ﬁ
2l C“_;.

ﬁ%ﬁqmgﬁiﬁﬁmgﬁu:

(a) T2 (b) TELFE2

(¢) FEe1 (d) 13 23H

15 &1 Fuw Re e €, 99 @ w = sifiyere (A) @
TEL Y T (R) Fa TATE |

arfRrRe (A) : 31 2024 T T 7 freiidta =i i
gm@ﬁmﬁﬁa‘@mﬁi

AT (R) : ﬁﬂﬁa‘i"cﬁmmwnﬁﬁlﬂzx%l

ﬁﬁﬂmﬁﬁﬂéﬁmaﬁt{
(@) (AT (Rg\éff Ta 8, B (R), (A) T
ST e FATE |
ol
v (A, fg ) T E =
@ (A T (R 3w & S (R), (A) FER
e TR |
@) (A)TEE R R) TR
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With reference to the “Kohima Peace Mcmuria! and

Eco-Park™ which of the following statements isfare

correct ? U

. lts inauguralion programme Was held on
g™ March, 2024 at Kohima.

3 1twill be developed by South Korea.

Select the correct answer from the ppdes given below

(a) Only2 (b) Néither 1 nor2

(¢} Onlyl (d) lﬁ:&]m | and 2

-

84. With reference to “Mﬂbilit;-j\JArrm]gement for
Talented Early-professionals Scheme” {MATES),
which of the following statements isfare correct ?
l.  This is a bilateral framework between India and

Australia.

In this scheme Indian graduates (aged

18 — 30) with knowledge and skills in specific

fields of study will be offered to live and work

in Australia for up to two years.

!J

Select the correct answer from the codes given below :
(a) Only2 (b} Néither 1 nor2

(c) Onlyl (d) I{E;h 1and 2

=

With reference to the lntematﬁal Conference on
Nuclear Sccurity (ICONS—2034), which of the
following statements isfare corrcet ?

1. This conference was held on 25™ May, 2024,

2. India has  recently reconstimted an
inter-ministerial Counter Nuclear Smugpling
Team (CNST) to strengthen the nuclear security.

Select the correct answer from the codes given below ;

{E}. Only 2 {bY Neither 1 nor 2

{c) Onlyl (d) Bothland2 E%%

[=

L
With reference to the “Pifhl Lao — Paise Pao™

campaign, which of the followlig statements is/are
correct 7

o <
1. This is related to reducesforest fires and to
provide a source of incomeffolvillagers.

The Chiel Minister of Uttarakhand launched
this campaipn,

85. 85

86.
86.

2.

Select the correct answer from the codes given below :
iéa} Only 2 (b) Neither ! nor?
¢) Only1 (d) Bethland2

22

83.

..................
..................

P AL 2

g e e 8 7, 2024 AN E
apretfere fn T | |

2 ity e ara Rt o S|

13 Ry e B 4w ST

@ 2 (o) A ITE2

@ @l @ 132

*wﬁmweﬁmﬁw&ﬁaﬁ%mnﬁ?ﬁaﬁrmss
AT (MATES),%EHEﬁﬁﬁHﬁTF@H F Y -
FUA S &2 7
1. uﬁwaﬂta‘@%w%mwﬁmﬁm%l
9. A srer 3 Ffee BT FE ST P
et s ST (18 & 30 T <t ) Fr I
o sl § wd ot = w £ Gwr F
ST | )
oy form g o 7 9 A ST : "
(a) 2 ) FAT1TH2
(c) w1 (d) 13f23E
SR GO T IR WO (ICONS — 2024) & ‘895
gead 3 Freferfas & & -ard o @ 287 ”
1. % WHET 25 WS, 2024 =i TGS fora 717 o |
2. W X g € B ] e e e #
Ty SAAT-HATER ST st ferdiedt S (CNST)
THie [ 2 | :
@ w2 &) AR LA
LR @ 1323

ﬁw T — T2 rafl axfirr 3 gepd 3 FeRie?
R T 34 0 ]

L e SOl o T Y e ey s e A A ;
T Y & e | 3
2. IS e i vw syt o e
@ =2 (b) FATIAH2 =~
(t:]%ﬁrai (&) a2



B,

yith reference o ““Nepal —India International

anskrit Conclave —20247, which of the following
atements is/are correct ?

§, Ttwas held at New Detlhi,

g, This Ehrec-day conclave was organised by the
Niti Anusandhan Pratisthan,

gefect the correct answer from the codes given below :

® Only 2 () Neither 1 nor2

.'(,;)' Only 1 (dy Bothland?2

with referencé to ““Lunar Polar  Exploration
Mission”” (LUPEX), which of the following
sfatements is/are correct ?

1. This is an India—Japan partnership for their
joint moon mission which shall be launched in
the future.

7. JAXA is responsible for developing the lander
for the mission, while ISRO is handling the
rover and launch vehicle.

Select the correct answer from the codes given below :

(@) Only2 (b) Neither 1 nor2

(£ Only1 (@) Bothl and 2

With reference fo v Guidelines for Elimination of

Corporal  Punijshment™ (GECP), which of the

following statements is/are correct 7

l. The Tamil Nadu gcheol Bducation Department
issued these guidelines on 26t Aprit, 2024.

2. These guidelines are focussed on safeguarding
the physical and mental well-being of students.

‘Seleet the correct answer from the codes given below *

(2) Only2 (b) Neither 1 00f 2

G By
() Only1 (@) Both1and? E”I&ﬂ

i With reference to “FLY91” which of the following

"
L
"y,

statements is/are correct ?

L Ttisanewly 1aunched airline in [ndia.

%, lis jnaugural flight took off from

24,
International Airport 01 180 March, 20

Belect the correct answer
(2) Only2 (b)Y Neither 1 not 2

________
...............................

@[c
D.STF-1-23

B7. AW W@ S e w2004 F
g & Pt § S A T TR EE

1, Te s el i st o
2. g d-Rad weiree i g i s

e o A
1 Ry e e 7 & wd ST IR 20
() ﬁﬁﬁﬂ\? (b) FAALTD2
(©) aﬁﬁff"ll @ 12
86, o R iR fer (@) ¥ wd
Erefrfiag SR Fe g R 7
1. aﬁw_w%aﬂaﬁgﬁaﬁﬁm%ﬁm
TaraTer 2, it sifere & gt foa S |

9, Jﬂ.«ﬁﬁﬁ%f@ﬁaﬁaﬂﬂﬁ%ﬁﬂ
ﬁcﬁm%,aaﬁﬁrsmﬁataiha?am:ra%

HTe @R
3 o e § A wE SRR
(a) a2 (b) A ITE2

(c) %aa\;‘;{ iy 1323

"‘Y"]
g9, I a8 laﬂ{?f-‘! ¥ feru Fean-Fie (GECP) & et

# ;%;%ﬂq-maﬁwa%"r%f%?

1. 26 Hﬁ?ﬁjzuzdﬁaﬁm@@ﬁmﬁm&&
faam-Frdn s R

oL ﬁﬁm-ﬁﬁmmﬁ%mﬂ?ﬁaﬂxmﬁﬁﬁw
g T E |

3 e e & S I

() FAT2 by AR 1TE2

(c) el (@ 1¥r2dE

gp, UmUEAT Al (Fl,'rm)#a:ﬂﬁﬁmﬁﬁaﬁﬁa _
S A A !
(ol
1. ﬁw=ﬁq€ﬁﬂ§q§wﬁﬁ%1
0 TEE BT Egﬁlsﬂﬁ,ztlzxiﬁqtﬁﬂ

siaefrieas SR TE G
:ﬂ%ﬁqm?ﬁzﬁﬂuﬁmﬂﬁq:
(a) A2 by FAT1TE2
() FAA1 (@ 12




91.

92.

93.

94,

(d)

;7712 Vision

Match List-I with List-II and choose the correct
answer using the codes given below the hst;
LlSt-I LISt-" ,’f)
(Yojana Name) (Date of Launct
A. Pradhan Mantri Awas 1. May, 2016
a — Gramin 1
B. ;j:l,j.lﬂer::vanMission 2. Octpber, 2014
C. Swachh Bharat 3. Atighst, 2019
Mission — Gramin =4
D. Pradhan Mantri 4, Novémber, 2016
Ujjwala Yojana N
Codes : "
A B C D
(a) 2 3 1 4
b 4 3 2 1
© 1 2 3 4 )
@ 3 4 1 2 =
' 92.
Which indicators are used in Human Development
Index (HDI) ?
1. Income level
2. Education E‘r]
3. Condition of environment E’;
4, Life expectancy ?‘;-i
Select the carrect answer from the'cotles given below :
{(2) Onlyl,2and3 ()] Onf 1 and 4
(¢) Onlyl,2and4 (d) 'Clnl}.r 1and2
Arrange the following schemes launched by the 93
Government of India in chronological order and|™ "
choose the correct answer from the codes given
below :
1. Swachh Bharat Mission
2. Pradhan Mantri Kaushal Vikas Yojana
3. Pradhan Mantri Garib Kalyan Yojana
4. Pradhan Mantri Mahila Shakti Kendra Scheme
Codes : )
(a) 2,1,4,3 {b) 431, 3
(¢} 1,2,3,4 (dy 3, sz 4
Malthus argued that the 1 =
populatiorf=grows in a 04
E;ngewm while agmullura"}-i. production/food |
b S
answer to fill inDl‘i]v::nl:gla;J?;I:mS’ ehoose the. correct
(a) Linear, Exponential
(b) Exponential, Linear
(c} Arithmetic, Geometric
Geometric, Arithmetic

@ Iaﬁﬁllﬂ@%ﬁmaﬂrﬁﬁw e

e

eft-1 -]
(a}am:nq) (Wﬁfﬁﬁ;’
A, ST STEE e - 1, 5, 2016
B. it Sfta fHE 2. I, 20,
C. e e e — i > ST, 2019
D. TR IS Ao ==, TR, 2014
EE
A B C D
@ 2 3 |1 4{
A& 4. 3 2 1
@ 1 2 3 4
@ 3 4°' 1 2
qHe R gaEE (9es) 7 e wi
ST fRaT ST § ?

EEE
ko =
3. vletr & feerfa
4. WIfed St STEfY 4T A1
= R me 3 § & ft swgh
(@) FEAL,2303 () FEw R4

ﬁ

Fae 1,234 (d) HFeT 12

I WK BT o i 8 Fr=fafaw aeeet F
Wﬁm@aaﬁﬁqaﬂrﬁf&qw@ﬁ&#
F T ;

1. =% 9 fimm

2. WuWHE T e AT

3. T T e demr

;z ERIEEIRIER 8| F e e

(@) 2,1,4,3 by 4,2,1,3

© 1,2,3,4 Ad) 3,1,2.4

RIE 3wk e fir st e i e
S Y Irares /gy  gfrdaedt
Pt et 4, fras vt o off & ROF |
I gfi &
(@) s, amidy |
(b) =iy, e,/

() Fmliredra, wnfirfty

@ i, atﬂi"ia'ﬂtq i
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95

971_'

—y

.C. Pradhan Mantri Suraksha 3.

8 Only 1

‘m

According to the Economic Survey, 2029 _
fiscal policy Tesponse did the Go}'v o123, what

, cmment of Ingiy
undertake in response to the g Epravated
disruptions 7 d global supply

1. Decreasing food and fertiliser subsidies

7, Increasing taxes on fuel and imported products

3. Reducing taxes on fuel and cortqin
products AN imported

gelect the correct answer from the codes
{a) Only 3 (b) Only |
() Only2 (d) None of the above

Match List-l with List-Tl and choose (4 .
answer using the codes given below the listsez correct

given below :

LiSt-I ) List-IT

Contribution)

A. Pradhan Mantri Shram 1, Beneficiary’s

Yogi Maan-Dhan Yojana choice
‘B. Pradhan Mantri Jeevan 2. ¥355-%200
Jyoti Bima Yojana per month

T 436 per year
Bima Yojana e

D. Atal Pension Yojana 4. T 20 per year
Codes :

A B C D
(@ 2 3 4 1 E’%ﬁ%
® 2 4 1 3
© 1 2 3 4
(d 3 2 1 4

‘Given below are two statements, one is labelled as
‘Assertion (A) and the other as Reason (R).

_Assertion (A) : Dcvelopment is being defined as

improving living standards and welfare.
Reason (R) : Growih in per capita income is not a

“sufficient measure of development.

Select the correct answer from the codes given
below :

(8) Both (A) and (R) are truc and (R) is the correct
explanation of (A).

(A) is false, but {R) is true.

Both (A) and (R) are mue, but (R) is nof 'the
correct explanation of (A).

{A) is true, but (R) is false.

(b)
(©)

()

Which measures are cssential to achieve Goal 4 of

the Sustainable Development Targels; 20307

I, Making education free and compulsory '

2 Improving basic school infrastructure  an
embracing digital transformation

3. Expansion of agricultural programimes

4 Increasing investment in technolng::’ .

Seleet the correct answer from the codes given below :

() 1and2 (b) 1,2,3and4

-------------

.
R L L

96.

97.

4

98.

D.STF-1-23
STl wEeml, 2022 - 23 ¥ argER, w5y Afe syl
ST ¥ SR T T T T i e
ot mfi Rt a1 9
[, TR N Jeften Aiemel o Y hm
2. Y 3R smEnfad SeaEl AR s
3, émﬁ@ﬂmﬁﬁmﬁimﬁmm

T Ru e e 5 & W I :
(a) ﬂ?aa? (Eﬁ%al _
(c) a2 (d) I9dFE & Fr5 T

1 =) g & e A o gRE A fr

T e T TP T T S A
e[ vl gt-11
_(mwn%f?fzjz&naﬂm) esTel

- TTEH)

A. mﬁ%ﬁnﬁmm 1. feenfirrr/emmeff fr
RIESH . FEBTER

B. SUAEAI Stea s aEmT 2, T55 -3 200
ST yfaaE

C. mEdfigarsm,_ 3. T436ufrad
AT T

D. e e AR 4 zooufrad

. CL-.-]}l

@ 2 3 4 1 %%%

M 2 U4 1 3

© 1 W2 3 4

@ 3 @2 1 4

= 2 e fRw e €, AR & O 1 iR (A) 3o

:ﬁaﬁw-jfk}mw%l

Fiftrwer (A) « Frehra it s wr ok wem # afs
& 0§ gioaTig R ST |
E(ﬂ):gﬁrmﬁﬁmﬁq&ﬁﬂwaﬁmw
|
Fw o o A & SR
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101,

102.

103.  Which of the following are envisaged by the Right

ey land2

‘m

Which of the following freedoms is nef g::uaranleed
by the Indian Constitution under Article 19?7
(2) Freedom to assemble peacefully and without

arms
(b)

Freedom to own, acquirc and dispose of
property
(c) Freedom to move freely throughout the country
(d) Freedom to practise any trade or pmfessmn
Given below arc two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : According (o the Constitution of
India, the same person cannot function as the
Governor of two or more Stales at the same time,
Reason (R) : Article 153 of thg-Indian Constitution
states that there shall be a Goversor for each State.
Select the comrect answer fTﬂ‘!"I"I. the codes given
below : 4
(2) Both (A) and (R) are trué"‘ (but (R) is net the
correct explanation of (A)s+
(b)

(A) 1s false, but (R) is true;>}
{(c) Both (A) and (R) are true and (R) is the correct
(d)

explanation of (A).
(A) is true, but (R) is false.

Which one of the following pairs 13 not cun'ecﬂy

matched ?

{a) Equality before — Guaranteed to both
Law citizens and
non-citizens
(b} Equality of — (uaranteed only to
opportunity in public  Indian citizens
employment

(¢} Creating a new State — Ppsver of Pa:llamcﬂt
(d) Altering the name of — Pawa:r of a State

a State g;slaturc
Match List-I and List-11 and—choose the correct
answer from the codes given below the lists :

List-1 et List-IT
A. Consolidated Fund of Indiaj~il1. Article 266
B. Finance Commission 2. Article 360
C. Financial Emergency 3. Aricle 280
D. Comptroller and Auditor 4. Article 148

General of India
Codes :

A B C D

(&) 3 1 2 4 Eiim
by 4 1 3 2 ‘I'!'!’%a
ey 1 3 2 4
@ 1 2 3 4

against Exploitation in the Constjtytion of India ?

1. Abolition of untouchability:

2. Prohibition of human 1ml1'ﬁckmg and forced
labour i)

3. Prohibition of emplnm@l of children in

factories and mines =t

4,  Protection of interests of reivoritics

Select the correct answer from the codes given below :

(a) 2and3 (b) 3and4

103.

99.

~(d)
100, a g e &, o U R AT (A

(@

i /{a}

102:- ujﬁla%‘r

B
C
D
e
\/
¢*~(b)

7:_(':[]'
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313—?&':{ o 3 sita et 5 8 -5 T oy
i S A D SRS 1
{a] m@mwﬁmw%mﬁiﬁﬁﬁm

aﬂﬁmt@%ﬁmﬁfﬁrﬁm
o %ﬁrmﬁmwaﬁmﬁaﬁm :

aﬁtaﬁm(lt}ww )

e 3 e 153 T 98
w%ﬁﬁu@mﬂ%%&@wﬁm
ﬁﬁqwa@ﬁﬂmﬁwaﬁq
-(A)ﬁm(mén‘ra'a"r%‘ g (R), (A) #1 T
ST 781 T © |
(A) T B, TR (R) EIET € |

(A) T4 (R) et T (R), (A) H €=
(d)

AT Ll "%ﬁ
(A)TE &, ﬁrﬂ'(mnaa%l ok
ﬁnl%ﬁaﬂﬁﬂﬁ?ﬁ@réaﬂﬁamﬁﬁ?ﬂ%?
farfer 3 e _ amferi us i geT F
T fugtfra AT e
AFTTRAT - e A AT
SR hl AT feg g &
frft T e - mﬁmﬁﬁ
ETYAT hidqT

%{:ﬁnﬂr‘aﬁrw T faem-viEer S it

-1 % gt hiferg 7R gt & =
Wﬁﬂ%ﬁ?ﬁmﬂﬁ@

(®)
(©)

-II

mﬁqﬁﬁﬁﬁ: aqgﬁ'baﬁ&
&mﬁz 360
280

l. W%ﬁﬂﬂ%lﬁ 313@3143
Tt gl
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P R~

{

A

3

4
e 1
1

Lo 1O L B ey

4
Tl W i % g s ¥ I
ﬁmﬁmﬁﬁmmﬁmq
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TR S8 S 3718 syerre o 7 FRT
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105.

106.

107.

108.
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3 A5

5_‘1

devices 7
(a) Mouse, Keyboard, Printer

() Mouse, Keyboard, Monitor s
(d) Mouse, Keyboard, Scanner

The content of computer
non-volatile, even when the pow

105,

106.

107,

108.

iy

-

Defence Coaperation Committee meeling,

. P B
oS Onlyl (d). BothlandZ ...

Which of the followin
between Fahrenheit (°F) ang Celsius (°C) degrees 7

‘m

Which one of the fnllnwing Eroups have only input

(b} Mouse, Keyboard, Projector -LE 0}

memory which s
Cr goes off s
(b) RAM

{d) None of the above
2 IS a correct relationship

(a} REM
() ROM

9
(2) °C=§0F+33 (b) °C=°F-273.15

) 2
(c) °1==-5-°c+ 2 () °F="C-27315

Which of the
true ?

(a)
(b)

following  statements is  nor

Chromosomes are composed of DNA and
Protein.

Nucleus of a cell does not play a role in cellular

reproduction.

(¢) Chromosomes
inheritance.

(d) Functional segment of DNA is called genes,

Given, below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : CO,, SO, and NO, gases get

dissolved in rain water and produce acid rain. .

Reason (R) : Atmospheric air is polluted due to high

concentration of pases like carbon dioxide, sulphur

diexide and oxides of nitrogen.

Select the correct answer from the codes given below :

{a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

() (A) is false, but (R) is truc. _

() Both (A) and (R) are true, but (R} Is nat the
correct explanation of (A).

(d) (A)is truc, but (R) is false.

i th e _'a Iﬂii‘lt
With reference to the 7" Indiz '"dune:hich of

contain informatien  for

108.

109.

the following statements is/are correct 7 :
In this meeting [ndonesia agrc:?d to 'ed i
collaboration in the areas of defence, Indus Ty,
maritime security and multilateral cooperation. :
2. This meeting  was  held  at Igkoett,  ©
May 5, 2024, . . .
SE]E{:t ihz commect answer from the codes given :Llow i
{a} Dnlyz (b) Neither [ nor =

nhance

1405.

106,

107,

D.STF-1-23

104, ﬁﬁﬁff@ﬂﬁ@ﬁﬁﬁ?ﬂﬁ%ﬂﬂwww

g ¥ 7

(a) A3, -G, fier :
(b) 13, Fi-aiE, ferex E_f%%
(¢) wreg, A, e

Wﬁtﬁﬂ?ﬂaﬁﬁﬁmm%a‘rﬁqﬁaﬂqﬁfaﬁm
B T ot s e e 2 0

(1) REM Sy RAM

{c) ROM () IR
ﬁrr%ffaﬁﬁﬂaﬁ:r-mtsﬁqgmﬁF}wﬁr%mHPCJ
Tt o ftwr gt wetw gt 2 0

(a) °c:-;i°f+32 ) °C=°F_273-15

.(:2 °F=§°c+32 (d) °F=°C_273-15

el § o T wed a0

(a) WNEF S T AT T e I

(b) Terelt ifive v Femer Ty ooy &
e et e

(c)  ShiviTeiTe Harfedl. & forq e el v ¥

(&) ST S FEaE T e AT S

ﬁﬁwﬁw%ﬁmﬁﬁ@ﬁmﬁmw

T 2T T (R) FETTATE |

T (A) 1 CO,, SO 3R NO, M 7 e 3 v

ST & 3 el Tt see et )

R (R} : FE SEHIHTRE, G SEHTFATSE 3t

ML & wAfFnge ot A6 v wew iz % ww

ARt Iy Sefie et # |

= fig o e 8 T smosfie:

(@) (A) 3 (R) 91 W ¥ 3 (R), (A) F T
STEAT AT ¢ |

(b) (A)TeTE E, FRRIIR) W &

sy (A) 3R (R A W €, R (), (A) 1 W

STE 781 FALE |
(@) (A)YENR B R T d
7 WG — $SHTIET B & wed afify Y o 5
ol § et § e s o 28 9
I 39 % ¥ SERRE 3 v, s, angt ger o
E[Eq&ﬁz[ Hean & g ¥ gt aww w gEafy
A |
7. T8 A 5 WE, 2024 FT Sreprell F arrapfera & wd |

ﬁﬁqr{q@ﬁﬁﬂ'ﬁmﬂﬁﬁ:
(a) FAA2 (b) TATIAE2
(¢) FATL (@ 1¥aad
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e & A o, O
; DBu -a;'g’z‘ii'ﬁ' ﬁ- ! F, B Pﬁﬂ
ﬁa » which of the| 110, “FWD 20 114- Go
110, Widr refaranta; o, “FWD 2005 ¢ TR ade “UAV” i che
following statements isfare correct ) AV L ﬁwmqﬁﬁ;ﬂ&i A e el
I, This is India’s first indigenous bomber 2 g it e 100 e | 1.
aircrafl. ' fa ﬁaﬁﬁ-qﬁaﬁtgﬁt{ ’.
ity is 100 kps frer fg T ar1TE 2
2. Its paylead capacity is 100 kgs. - : : et 2 by T [ 2 5
Sclect the correet answer from {he codes given below ; (a) e | (d) 1 A2 A 4.
‘ Neither | nor 2 (c . Co
(a) Only2 (b) Neithar _
{c) Onlyl {d) Both 1 and 2 (i *W_aﬁéﬁm L IBED e 3ﬂT =R Hq’#mg.. @)
L . : ' d Aus ECTA)" ED = o Freafafas 4 5 (c)
111. With reference to “Indla!- Australia  Bconomic “_“ _fﬁ TadEn 15. Wi
Co-operation and Trade! Agpreement (Im‘l—‘Au.“- FA-TE FEA -QF}" ¥ forg sl @@ F U 1 fol
ECTAY” which of the !'ul]o{ving stalements isfare (. 7% F_gA (TR2L) ..
. ') E
correct 7 _— L : 2.
l. Thisisa ﬁrst—of—i[s-kipJ;iuilinli'.-‘c of FTAs. 2. @F=wd TG & FITd Hi_laa #ft ﬂ:“a CECIR g_]
e @
2, The meeting was attended by the Commeree T I
Secretary of India, Shri Sunil Barthwal. ﬁﬁqwgﬁﬁﬂﬁw?ﬁ,ﬁﬂ Eﬁ g:]
Select the correct answer using the codes given.belnw: (a) Semr {=)] THr ?T:»Fff ) (c;
(a) Only?2 {b) MNeither 1 nor 2 (c) Fa | {(d) 1 A2 e ( d’
¢} Onlyl (d} Bothl and?2 '
. i 112, g e & gl i g F A RO G
112, Match Li.st-I with List—il'[ and chcuse'l.he correct mgwmﬁﬂﬁmﬂﬁﬁ: Ac
answer using the codes given below the lists o1 q:Eﬁ-_u As
List-1 List-IT o St i
{Joint Exervise) {Dates) (g GTl??F) _— - ) , s
A. India—Uzbckistan Joialy 1. February A. W—ﬁm’m 1. weEtt 19 - 27, iy
Military Exercise,  ‘tf 19-27, AW, "SRl 2024 15
“DUSTLIK” m 2024 (DUSTLIK) g
B. India—France Joint Military 2. May 13 — 26, B. WA — W€ W% 870 31, 2. W8 13— 26, 2024 "
Exercise, “SHAKTI" - 2024 “qiftr” (SHAKTT) |
C. Harbour phase nf[ndq'.‘—{_;US 3. April C. W — Hoeh U it bl 3, 378 15— 28, b
Joint Exercise, Tiger 15— 28, HY™ Y, 28T 2V h 2024 (c
Triumph, 2024 2024 (Tiger Triumph), 2024 %t 3
D. MILAN, 2024 4. March GENCILS y
18 -25, 2024 D. PeH (MILAN), 2024 4. 97 18 - 25, (
Codes ; 2024 117. W
A B C D & ey
EE =
@ 3 4 1 2 :ﬁ%ﬁ A B C p 1.
® 3 2 4 - @ 3 4 1 3 2.
@ 4 2 1 3 - by 3 2 4 3,
@ 2 3 1 4 © 4 2 1 3 W
() 2 3 ] 4 ta
113.  With reference to “Sh.eulu;g!afwak Valley”, which of the 4 . . X {a
following statements is/are l;iklrrect ? 3. ‘3 Eﬂﬁ[ 1L gf‘" & Tl ﬁtri%rﬁa?f ) Hi-a7E : (c
. oy FET .
1. This valley is a siratepic. key re ion, that is part ! 18,
Ras ElG KeY reglon, p | - g’ . wi
of Pakistan-occupied Kaghmir (PoK). © T I v w K HEEq CEl g, 1
2 India has fodged*{protest  against (he FERERT % 3653 161 0T (Poky o Fer 3| :
lﬂrfﬂSt_mCrlel development being carried oyt 2. W#sﬂlqﬁqgﬁqmﬁﬁqml%i Pt 2t 2
by China in this valley, %ﬁﬂﬂff{fﬁﬂﬁﬁ‘ FAAT & | 3
SEI‘EC‘DUW correct answer frpm the codes given below : :ﬂa‘“ﬁq’mﬁ LR Eiacioes qu 3.
(2 Only2 {b) Neither | nor2 (a) <Faer2 (bi T@ 1T Ce
{0, Dniy? (@) Both I and 2 ; 5 a
------------------------------------------------- L T L S (d) 1 3fit2emt S
- T VIR e S
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AT & |

e
& gast
T

g

m2

— 2?’1

16, 2024

— 28,

25,

H-gTE

7 ®, W
e |
DGk

‘m

% i range the following schemeg
114 G svernment of India in chrongl
choose the correct answer fron,
he[ow i
{ [ntegrated R%lral Development Programme
Swarnjayanti Gram Swarozgar Y ojana

~ National Rural Employment Guarantee Act
4 Pradhan Mantri Jan-Dhan Yojana
Codes :
{a] 1,2,3,4 (b) 3,4,1,2
© 2341 d) 4,3,1,2

ith reference to Economi :
glljtgwr';g staternents isfarg‘ggrr(g:r:??lh’ Which of the
1. Indizn Economy is an Underdeveloped Economy,
2. Indian Economy is a Mixed Economy.
3. JM. Keynes is the Father of Economics,
Select the correct answer from the codes given below -
{2) Only 1 and 2 are correct. oo
o) Only 3 is correct. 'ﬁ%ﬁ
(¢) Only 1 is correct. '
(d) Only 2 and 3 are correct.

Ii]l-mc]":d by the
ogical order ung
the codes given

15

Gwen below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
‘Assertion (A) : The value of national currency
determined by demand and supply of foreign
cutrency is called flexible exchange rate.
Reason (R) : Demand and supply of the foreign
_cumency is being determined by the Central Bank.
. Select the correct answer from the codes given below :
(@ Both (A) and (R) are true and (R) is the correct
- explanation of (A). .
(b) (A)is false, but (R) is true. _
(&) Both (A) and (R) are true, but (R) is not the
- correct explanation of {A).

) (A) is true, but (R) is false. _
I With teference to India, consider the following
“events -

I Nationalisation of Banks
-2, Formation of Regional RumLBBanki -
3. Adoplion of villages by Bank Bran
“Which of ItJhe above evfnts can be ED}‘S"iEr.EEI,.?S ateps
taken 1o achieve “financial inclusion In India™
(8) Only2and3 (b) 1,2and3
© Onlylad2 () Onby3
With reference to “National Food Sccuéllt
Yhich of the following statements 8%¢ 4T,
It will coyer up to 75% rural and
Population. i
It has special focus on nutrition
... Women and children.
v W was enforced on J uly 5, 2010.

116,

ll!‘ Ac l-ral

al support [0

i ﬂﬂgs "
it ) rrect.
. ) 22043 ar cormect. () ] ﬂ"dd ;:;ce f;non-ech B
i ""'*.'--c.__ 1,2 and 3 are correct.  (d) 1 AN S g v

s .I 1
(e ) I— A :

D.STF-1-23

114. MR WOER 5 ey f md Fefafan G #
mﬁmﬁmaﬂzﬂ%ﬁqw@ﬁ%w

AT ;
I ol oo e wemy
2. Tl S I S e S
3. Ui oo e TR St
4. TR - e
FZ: <
(1) 1£%)3, 4 _#6) 3,4,1,2
() 273.4,1 (d) 4,3,1,2
115. ;T_B'r{ﬁf%m Fued , Frefeiaa O o SR8 a7
1 %wwmmﬁ

2. WRE T Feferawe v i e )
3, S SRy T SR E

= Ry o & & v s

(a) a1 3R2EdE E,g%
(b) el 3w e
(c) a1 g

- Ad) FAF 2GR E
116. = &7 T g mu €, fd © w1 sifige (A) 9o
ZER 1 RV (R) FEl T E |
(A) : T T = 8 e i) ferdel) ogr <
i RS 210 7 8 €, 39 T i s wEd €
o (R Fef g i <k s 3t 8 g
Frwife £ & 1

e fruem 52 8 & W S g
(2) (A) T (R) BAT W § M (R), (A) A wH
SREAT F |

@) (AT e, R R) R

() (A) 7T (R) SH1 6el €, g (R), (A) & o
RN T8 FET & |
(@ (A)FHE g RITORE ]
117, G & g4 §, e e o e iR ;
1. i e

2 aﬂuurrﬁwﬁaﬁ%n;:!ﬂa
: it oo
:: A T 7 R e faedr T

wH <& o ITIT AT ShEH WA I ST R 2

(@) F1233 B 1,233
(c) k| IN2 (d) _ el 3

i18. "uﬁgﬁﬂgfgmﬂﬂﬁlﬁﬂﬂ"#mﬁﬁwﬁiﬁﬁﬁﬁ
R FA T8 ?

| A 75% T 3T 50% el SHHE ae faEante
|
2. ?H“ﬁmﬁaﬂtaﬁﬁ#ﬁwwﬂ?mﬁﬁw

frarTare |
7 :gw,zomaﬁmmww
E;!:zs:ﬁtwﬁ%‘l () 13RI WET)

© L23MOwas @ 1smowhEl
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- ;ﬂl HE"'T
5 fi & T W AT (A)
e s Tabelled as | (19, A TR FEATLE 700
119. Given below are two statements, one is labelle " g FT (R)FE foerTa gEHIE (TSI, T
1 pi sertion {A) and the other s Reason (R). ) ] E\ (A) : aEd N aRET TS
53¢ i itive relationship e ~ g*r-qﬁ ° LA AT
Ausertion AL o e (HDI) and the Had Frg @A (TH.S )[
en Human Developmen e : ; R ERED]
g(i::t;nr;hlc Development Goals (SDGs) ranking of FHrafaard rﬁ—nmr ST 3 JTERA AT
Indian States. D enG I (R) : Wﬂﬁw FaEEa gl
Reason (R) : The underlying dimensions 0 health IMIIRCESIES ﬁ
gets e clogely; elated Jo'Sfitstion SAca A &, g (R0, (4) 1 0
aspects. = : _ A) 9T (R) A ’
Sclect the correct answer from thE-;}}dES gven bclu:r : /,(f) L!TI'}@&T T T |
(2} Both (A) and (R} are true[,':ttlut (R) is not the (A) TR 5 - (R)"HEFT%I i
correct explanation of (A). " ¥ (b) ‘H'EIT (i{J a’q':i. wdr ¥ 3t (R), (A) &+ e
is false, but (R) is true. (c) (A)
(b) (A)is false, 4 (R) is the correet TS FATE |
(c) Both (A) and (R) are true an : TeE )
explanation of (A). (d) (A) |, ﬁhr_ﬂ (R) . .
(d) (A)is true, but (R) is false. . Hﬁ-[ i 2uit % 9w & T EIET Hjﬁ'—” T ay 2022 |
120. List-I contains the names of countries, w}'fereas wanferdt grn Ayl 78 afir S wH () Gﬂ“{a ¥
List-1I shows the Rank as remittances received in the e | E;tﬁ-I FI Hfﬁ'" o -ﬂ-ﬁﬁrm aﬁﬁr[{ H&ﬁ .
vear 2022. Match List-1 with List-1I and chnusF the ﬂ%ﬁqm@wmﬁﬂﬁmﬂﬁﬁ
correct answer using the codes piven below the lists : e 'Fgﬂcf-ll
List-1 List-Liry &) (%)
{Country) (f?ﬂ”'r"?;l-n.i i A. Ui 1. 99y
A. Mexico 1. First - B. I 2. rﬁ?ﬁ'q
B. China 2, Sef"“;?g C. W ’ 3. gy
C. India 3. Third 3y D. fcfifra 4. T4
D. Philippines 4. Fourth .
Codes ; o A B C D
Ay B € (@ 4 1 2 3
(a) 4 1 2 3 L) 2 3 | 4
® 2 3 1 4 © 3 4 2 e
© 3 4 § L @ 1 2 3 B
@ 1 2
121 1 = sy ¥ Gife Hiftg
121. Martch List-I with List-1l and choose the correct w@ﬂmmaﬁmaﬁq_ﬁqﬁﬁ%ﬁﬁﬂ
answer using the codes given bclbﬁi__' the lisis : TR | oh gl ’
List-T List-ll - it .
fState) (Rank according to expenditure =) (2019 - 23 @EE?{_I:; mﬂ(’iﬁmaﬁ
on l'nﬁa.v.rrrcﬁ;ifre 29 -23) W %QWW%G@R LYo rond +a)
A, Maharashira 1. Fimt l;\-! A, HEMTS l. e
B. Uttar Pradesh 2, Second B. Fwm o Raefrar
C. Temil Nadu 3. Third C. dffemrg 3, ey
D. Karnataka 4. Fourth D. FeF 4 -
Codes : ) EEC : r - g
A B C b i ) A =
1 2 3 g4 T € o
® 2 1 3 g4 ) f;’; ; f : ) |
ey 4 1 2 3 () 4 I 2 ;
......... “”23‘4 @ 2 3 )
T Tt L T B

12¢
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122. Given below are twg statements, one is labej)eg as

Assertion (A) and the other 5 Reason (R). 122, :ﬁigaﬂ? fam T ¥, i UF i i (A) Tar
Assertion (&) Article 352 of the Indjap EN Eara) (R)¥Farmard) A .
Constitution  deals wip, the declaration  of 1 (A) : WP wfpmg =3 352
: al i
EMErgency. HTITRTel ety Y gy HHefE R
Reason (R) : An Smergency may take place g any FT (R) : AT Refyr frelt oft T F0T 8
time, TRt |
Select the correct answer fiom (e codes given below : :ﬁ%ﬁqﬂqiﬁiﬁﬁﬁﬁmﬂﬁq:
(a) Both (A) and (R) are true, put (R} is not the (@) (A) T (R) 2 Tt g, T (R), (A) it 78
correet explanation of (), S T & |
®) (A)is false, buy (R} is true, s e Y
(¢} Both (A) and {R) are true ang R) is the BE ®) fﬁlf’ﬂﬁ'ﬁ,ﬁhﬁ' (i1 el .
: { P @ @ R o E e w, ) B e
explanation of {A). J o 3
() (AYis true, but (R) is false. _ P 5
123, Which of the following statements gre correct @ @ Hﬁl% . Eﬁ‘!m) g o
. E ! 3 ] - o
regarding ICT based e-Governance ? s :ﬁf—;ﬁ;ﬁwﬂ?% B
I. Zii:ﬂ:ﬁfe reduces the transparency of L Erdrerad T N
2. e-Governance reduces the cost of Government. 2. %—’Tﬁfﬁ TN ?’rﬁl"‘m’?ﬁ‘aﬁ T E |
3. e-Govemnance increases  citizens input  into 3. S TEIOU R AR 7 W\E@'m% |
Government. . 4. I A e e g 2
4.  c-Govemnance increases bureaucratic ﬁmm?q #H‘Eﬁaﬂ'{ﬂ'ﬁq:
red tapism, . {a) 23a (by 2m3
Sclect the correct answer from {he codes given below : N @) 23304
(a) 2and4 (b) 2and3 o v P i/
. () 1,2and3 (d) 2.3and4 124. m@mﬂaj}ﬁmaﬁﬁgﬁ‘z@ﬁnﬁﬁqm
. . . ‘hich of Lhe H’Iﬁﬁ?ﬁf—?ﬁlﬁﬁﬂ‘tﬂ?ﬂ .%
124, The UPSC derves its functions from which o | : 4
following seurces 7 2' E_ﬂ =i e
I. The Constitution . Hod ﬁliﬂ' . fi"f
2. Parliamentary Laws E%g 3. W‘J‘m"im‘:lm T R
3. Executive Rules and Orders a2 4. o .
4. Conventions : ) :ﬁ%ﬁqw@gﬂﬁwmﬁﬁq
Select the correct answer from the cud;ﬁ given below : (a) 132 by 133
Eai (I::Tdf E:;; : :i'and3 and 4 (c) e | —d) 1,2,33ft4
[ nry A . - _E' 9
125. Which cne of the following is comectly ma.tched ? 125, ia":‘i%"@. E_' CE ot SR !\f”%m :
] Constitutional Body Constitutional H‘[ﬁ‘mﬁmﬁﬂq I ECIEE D
Article 3"':'\'_5@"&'
{a) Election Cnmmissi-on — 165 (@) _ ik
(b) National Commission - 148 Frarfer sy oy e
for Scheduled Castes (b wsfiy ﬂij?g_l%m ST — WY
{c) Finance Comnll'ﬁ:qfﬂ_ﬂ — 263 () fawr - 263 1
(d) National Comrr]mssron - 340 ) wSrfssrafamir - 340 -
for Backward Classes r _
ical se [ the Frreferfer Spet s 6t geam fifm -
126, Identily the correct chronological sequence o 126, 1 gmﬁﬂw A,
Tollowing : ) — :
1. Shankari Prasad vs. Union of India 2 W%WW%W
2. Sajjan Singh vs. State of Rajasthan 3. T A A
3. Gelaknath vs. State of Punjab I 4, FyEHE Wt W
4. Kesavananda Bharati vs, State DfK?rﬂ & i :ﬂ%ﬁq_qq@ ﬁﬁgﬁ‘raﬂxgﬁq
Sc-iact the correct answer from the codes given below ; (@ 1,4,3,2 by 3,214
14,32 () 3,214 ) 1,2,3,4 (@ 3421
{a} 17878 (d] 3.4 2. D i A pohs ) 5,4
() 1,234 (@ 3 o el
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127. Match the Amendments with their yeor of|j27. @il 1 36 rataa % & e e -
implementation : v

A, 42" Amendment . L[985S B
B. 52 Amendment 2. 2‘[35]
3

Cc. 6™ Amendment . L?)_.ﬁ E oat w0 > 2002
D. 96" Amendment 4, 2002 ﬁﬁqm@ﬁﬁﬁﬁwﬂﬁﬂ:
Select the correct answer from the cm} !given below A B C D
A B C D
{a) 2 1 3 4
(a) 2 | 3 4
o 4 3 2 1 i 4 3 2 1
€@ 1 2 3 4 @ 1 ,2 3 4
@ 3 1 4 2 @ 31, 4L 2
i L 128, @-Iﬁ@-tlﬁgﬂﬁﬂﬁﬁqaﬁmﬁﬁ#ﬁ%ﬁq
128. Match L1:st~l with List-_l'l and chnusc.lhe correct Wﬁﬂmmqﬁmﬂﬁﬂ;:
answer using the codes given below the lists ; i ?Eﬁ-l ﬁiﬁ-l ;
o ; i ﬁ%a A. eI HUaAH 1. FEh RN
A. Cooperative Federalism 1. K.C, Wheare : i V-
B. Bargaining Federalism 2. Ivlél%ennings B. ﬁﬁaﬁﬁw 2, RS
C. Quasi Fedcralism 3. Mbfgis-Jones C. s guar 3. ﬁlﬁ&'—ﬁﬁiﬂ
D. Federalism with 4. Gamville Austin D. e i vafd 4, Ifeer it
Centralising Tendency %}"} AT S
Codes : o~ T
A B C D A B C D
@ 2 4 3 1 (a) 2 4 3 1
®m 2 1 4 3 m 2 1 4 3
€ 4 3 1 Mg @ 4 3 1 2
(dy 3 2 4 1 @ 3 2 4 1
120. Which one of ihe following is met a level in the 129. meﬂﬁqﬁmaﬂﬂﬁlﬁﬁ-ﬁﬁﬂ'qﬂmﬁtﬁ
three-tier Panchayati Raj recommended by Balwant T e 4 | - O TR AR R 7
Rai Mehta Committee ? (a) LEIRGE: )
(2) Panchayat Samiti LM (b) MY
(b) Gram Panchayat <t (c) Toem =
(c) Zilla Panchayat ':;j ) T
(d) Nyaya Panchayat ) 130, S ot dee sifufem, 2013 F
130. According to the Lokpal and Lok:ﬁas Act, 2013 mﬁ % ﬁ-ﬂﬁﬁ T BT v =mT whf #
the Lokpal would be appointed by thePresident aI"tcr ﬁ?_ ST W EF e & ST, e syeger TuE
obtaining the recommendations of a Selection oot g e frme ot @i & e, Frafafe
Committee, with the Prime Minister as chairperson e B
and consisting, among others, of the following : 1. WA & Tor AN W I T awRie
1. Chief Justice of India or a Supreme Court Judge T T R
2 1-::ﬂhm'im“md bf'yt‘: i“;;a' Sabha 2. TSI F A
. airman of the a Sabh: -
3. Speaker of the Lukjgahlla o E"I;F:EHW ETWET E\%%
4. Leader of Opposition in the Lok Sabha 4. Wwifﬁq&fﬂﬂﬁﬂr &
Select the comect answer from the codes given below ﬁﬁqu{ﬁﬁaﬁmﬁﬁt{:
(a) 1,20nd3 (b)Y 2,3and4 (a) 1,23W3 (b) 2,334
(c) 1,2,3and4 (d) 1,3and4 (¢) 1,2,33M4 () 1,334 L

----------------
......
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Consider the following statements with reference to | 13

the Congress Socialist Party :

I. The Congress Socialist Party was formed in
January 1934,

2. Jawaharlal Nchru formally joined this party due
to his sympathy for socialism.,
Which of the above statements is/are correct ?

(a) Bothland2 {b) Neither 1 nor2
(c} Onlyl (d) Only2
). Consider the following events and arrange them in
chronological order :
1. Murder of Abul Fazl El%%
2. Death of Sheikh Mubarak S
3. Death of Faizi
4, Death of Daniyal
Select the correct answer from the codes given below :
(a) 2.1,4.3 (b) 3,2,1,4
() 2,3,1,4 (dy 2,4,31
33. Consider the following events and arrange them in
chronological order :
1. Linlithgow August Offer
2. Cripps Mission arrival in India
3. Ramgarh Congress Session
4, Resignation letters of Congress Ministers
Select the correct answer from the codes piven below :
(a) 3,1,4,2 by 4,3,1,2
(0 1,3,42 (d) 4,2,3,1
134. Match List-] with List-1l and choose the correct
answer using the codes given below the lists :
List-1 List-II
(Book) (Writer} _
A. Hindu Polity 1. D.D. Kosambi
B. The Wonder That Was 2. AL Basham
India
C. Anlntroductiontothe 3. K. Jayaswal
Study of Indian History
D. The Early History of 4. Vincent Arthur
India Smith
Codes :
A B C D
() 3 2 4 i
(by 1 2 4 3
¢y 3 2 | &
S T T SSUR——

132,

133.

134.

e Ll L - L 4 4 = - -—————— -— *-éa .

D.STF-1-23
Fir dwfere @ F e § fafaiag sl
IERIE 1T L
. SFat 1934 § FHig [ o = w3t R

™ |
2. UHNER ¥ W € % HoT e vy i
STETETI 6% 56 3e1 5 e §U |
ST B & A1/ T el o/ 7
.t{ | 372 3H (b) Ta1TE2
© el :H‘] @ Faa2
Preaferfe g e v AR e 5 e
Eﬂﬁﬁﬂﬁﬁﬁlﬂ;:w‘;p
I, el e o el
2. WG AT R
3, ST
4. TiEEd Oy
ﬁﬁqm@ﬁﬁﬂﬁmﬂﬁ({:
(@ 2,1,4,3 () 3,2,1,4
() 2,3,1,4 (@ 2,4,3,1
Frerffea Semalt T R R ot 37 e ¥
et A oy
1. fomferery gy e T
3. UGG, .
4. wﬂmwﬁlﬁ;ﬁ?ﬂmqﬂ
qﬂ%ﬁqwmﬁ%hﬁmﬂﬁf
@ 3.1,4,2 ®) 43,1,2
© 1,3,42 (@ 4,2,3,1
.lﬁygﬁu@rﬁﬁ%ﬁaﬁﬁmaﬂmﬁﬁ%ﬁﬁq
ﬂt{@?ﬂﬂﬁﬁﬁﬂﬁwgﬁa
;:Eﬂ-_] H:r,ﬁ‘-[l
) (FEF)
A_é% LG e
B. aa@réaara 2. UUH SRW
c ﬁq@wiggg‘r 3, R, ST
afte gfee ol
SRR G fédfe amft v
. <t
EEE'A pNe 3l
(@ 3 2 4 } =
by 1 2 4 3
() 3 2 L 4
(d 1 2 3 4

_____________________
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135, e & wuT

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion {A) : Most of the carly natinrm!ists
considered British rule as an act of providence
destined to bring modernisation,

Reason {R) They complained only against

“Un-British rule” in India.

Select the correct answer from the codes given below :

(a) Both (A) and (R)zarc true, but (R) is mar the
correct explanatiofi'df (A).

{b) (A)is false, but (Rﬁ:i:s true.

(c) Both (A)and (R) are truc and (R) is the correct
explanation of (A‘{._‘j i

(d) (A)is true, but (R) is false.

Which one of the following statements is mof correct

about William A.I. Archbald 7 136.

(a) He was the Principal of Government College,
Dacca.

(b} He was the Principal of Lahore College,
Lahore.

(¢) He was the Principal of MAO College, Aligarh,
(d) He was the Principal of the Muir Central

College, Allahabady 137.

<r .
Consider the followingeyents and arrange them in
chronological order starting from the earliest :

1. Vellore Mutiny &3

2. Death of Nana Fadmavis

3. Recall of Wellesley -

4.  Anglo-Nepalese War

Select the correct answer from the codes given below :

(a) 2.3,1,4 (b) 4,1,3,2
{c) 2,3,4,1 (d) 3,1,2,4
Match List-T with List-Il and choese the correct o}
answer using the codes given below the lists :
List-I List-Il
{Revolt) {Leader)
A. PaikaRevolt 11/ iEdachena Kungan
B. Bareilly Revolt 2??£hdharum
C. Malabar Revoll 3, Mufti Muhammad Aiwaz
D. SylhetRevolt 4¢ ~+lagabandhu Bidyadhar
.mi"Mahapatra
Codes : ™
A B C D
@ 4 3 | 2
) 3 4 L 4 j%
(@ 3 2 1 4 '
21 3
"4

D.STF-1-23

7o (R) e T € : -
aﬁ{ﬂ?{ﬂ-‘ﬂﬂ): . tmrﬁﬁﬁﬁaﬁlwﬁ
et v et e AT o T SR ST
| S .
e (R < S e e ST AT

¥ faams o | .
F O T ;
ﬁﬁf:?a}r{ ) @it wd & P (R), (A) 1w
T Ag) Fa & | it
Ted &, g (R)
EE E:i 2 (R) ST | § 3 (R), (A) HT EE
T FET ¢ |
(d) (A)TE 2, R (R) T €
S e AEwe & aef § Frefaled 4 §
FH-H T FUA GETE & 7
(2) AT FHieisT, BT & W= 9 |
(b) 2 RN Frere, TTeR 3 W o |
(€) AU Fie, avefine & urar & |
(d) TR TG Hier, TG & = & |

Frfifia memmelf W fean i qur =8 Wiy §
HIAFATTAR e Hhfery

1. deorfEE

2. A R o ey EHE

3. STl A e -,5‘%&3

4. et g

#ﬁﬁqwﬁﬁﬁ%ﬂﬁm‘gﬁq:

a) 2,3,1,4 (b) 4,1,3,2

(€©)  2,3,4,1 (@ 3,1,2,4
-1 -1 D wiferm it st
W?ﬂmmnﬁmgﬁq: it ¥+ R
A wEmRgy

g' fﬁaﬁzéﬁﬁ? .l et

EE'E : 4, WWHW

A B C D

(@ 4 1 1 a

b 3 4 4 ,

fey 3 2 1 4
D 2 13 g4
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140.

141,
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Consider the following days and arrange them in
chronological order ;

1.  World Health Day

2, National Maritime Day

3. World Athletics Day

4. World Red Cross Day

Select the correct answer from the codes given below ;

(a) 4,2,3,1
by 2,1,3,4
(e) 2,3,4,1
(d 3,2,1,4

Maich List-I with List-Il and choose the correct
answer using the codes given below the lists

D.STF-1-23

139. ﬁnﬁlﬁqﬂﬁmmﬁmfﬁﬁqaﬁrﬁmﬁ

141,

List-T List-T1
{Award) {Recipient)

A.  Aryabhatta 1. Amitabh Bachchan
Award, 2024

B.  World Literary 2, Mamta G. Sagar
Prize, 2024

C. Lata Decnanath 3. Dr, Subba Rao
Mangeshkar Pavulur .
Award, 2024

D. Goldman 4.  Alok Shukla
Environmental
Prize, 2024

Codes :
A B C D !,;2%%

(@ 3 2 1 4 Sk

My 3 2 4 ]

) 4 2 1 3

d 2z 3 1 4

Match List-T with List-Il and choose the correct

answer using the codes given below the lists ;
List-I List-11
(Vitamin) (Discase)

A, Vitamin A I. Berben

B. Vitamin B 2. Blindness

C. VitaminC 3. Rickets

D.  Vitamin D 4. Scurvy

Codes ;
A B C D

(a) 4 3 2 1

) 2 1 4 3

fc) 1 2 3 4

(dy 1 3 2 4

140.

- @

safter i ;

1. fovg e feag

2. U yEd e

3. T wrdfem Rem

4. Tt

19 feume e & et s g
@ 4,2, 3£i,

Eim
(b) 2,1,3,4 Ej‘gﬁ
(c) 2,3,4,1

(d) 32[4\/

zgﬂ[a%uﬁ-n@rgﬁ%ﬁ?ﬁﬁqaﬂtwﬁﬁ%iﬁ%ﬁq
T e T GG F Het IqT AT -

gi-1

(JTFR)
A. FEHZ TR, 2024
B. fova iy yoarm, 2024

iy
C. amaﬁmgnﬁm&r
ey, 2024
rhﬁﬂ:rﬁﬁmgwr 4
2024
&

(%

gEt-11
()
. ftEnT a==T
. T, '~

N &1 g U
LEGT

{b)
(c)
(d)

aﬁrﬁﬁ:rﬁﬂﬁ%ﬂﬁﬁqaﬁrqﬁﬁ%ﬂ%ﬁq
T T T W I g ;

qefi-| "T -1

(e (@)

Fafm g 1. WG q

AT

M-&UJL\J}
WM R
— — e~

A

C. fEaimc

T A S e mm A S
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142.

143.

144.

145,

146.
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Consider the following statements with reference to

Special Officer for Linguistic Minorities :

1. In the Constitution, there is a provision for the
post of Special Officer for Linguistic Minorities
for every State.

7. A new Article 350 B was added for this by the
9" Constitution Amendment Act.

Which of the above statements isfare correct ?

(a) Ouly?2 (b) Ne:i}hf:r 1 nor 2
(c) Onlyl (d) Bulll-l and 2

P
The Concurrent list of the ludian Constitulion
includes : "

pary
l. Trade anu:! Commerce ["f i E'g%
2.  Adulteration of Goods Ok
3.  Succession
Select the comrect answer from the codes given below !
(a) land3 (&Y 1,2and3
(¢} Onlyl (d) Zand3

Fathima Beevi died recently. Consider the following
statements regarding her :

1.  She was the first woman judge of the Supreme

142,

143.

D.STF-1-23

Pt apay ¢ PR IR s
' mﬁﬁqﬂw%ﬁmw e
L o e s ST A
| o e 350 B S T

(a) a2 () FA1TH2

(c) ] @ 1323
wﬁﬁﬂﬁﬁmﬁwﬁaﬁﬁiﬁﬁﬁﬁ:

1, =R U i

2. wmE Y fremE

3. UMK

H2 gy e # § v S g

@ 1373 (b) 1,2%R3

(c) e 1 (d) 233
r'_,.--'-"_

144, wifmr i @ wer € F Fue gem | 3% S

frefafas wuar o fG=R fife
}ﬁ%%nﬁamﬁnﬁﬂ%m%ﬂﬂm
ot |

Court of India. = -
2. She served as the Govern ’Ejor Kemala fom| 2 H'éisfg;?’mm T ST T o el o T
1997 —2001. . Hame oft |
3.  She was the first Muslim woman to enter inlo 3. 98 T=ual YT 95 qg‘“ﬂﬁ Tt 98elT Hﬁ{-ﬂ
higher judiciary. - " Afem o)
Select the correct answer from the &ddes given below : ﬂ%ﬁqnqiﬁgﬁﬁg?ﬁmqﬁq ;
(2) land?2 ® 14nd3 (@) 13fit2 ®) 13R3
(c) Only]l (d) 1,2and3 (c) a1 @ 1,293
;\:.;it}!: TEEE;?RCEmm?dtN?tj(:-nil In‘telle-clua] Propn?rry 145, g Eﬁ%}:ﬁ el SRR Hifyee ¥ =i F
ghts Policy™ consider the following statements ; ﬁmﬁﬁﬁmqﬁqﬁ%
. It reiterates India’s commitment to Doha il ﬂ'ﬂfﬂﬁﬁ?ﬁq@l@ 2 ﬁ"‘:
Development Agenda and the TRIPS agreement. ﬁ%ﬁm? SR ERRE TR T
2. Department of Industrial Policy and Premotion is 1 Gﬂ?ﬁﬁﬁzﬁﬁl s . l
the nodal agency for regulating Intellectual .aﬁt kil ﬁ‘llm, RT # sitfas
Property Rights in India. skl 3‘Iﬁ$i| E7 IE[EDrc Ty ¥ o F=F
Which of the above statements is/are correct 7 AT gl
(a) Only?2 (b) Nel-_:"'_'l;ﬁjler I nor 2 3‘3*“‘“ﬁm~wﬁmm&%}%? e
(c) Onlyl (d) Both, and 2 @ : 2 (b) TAT 192 E%?
Which Amendment Acts deal I[!.‘i.] 1G N | L
endment Acts deal with.Local Governance ;
Institutions in India 7 y e, ﬁ?ﬁ-ﬂmﬁ%ﬂ Al Wﬁmwﬁwﬁﬁ
(a) 63 and 64 Amendment Acts i?* 2W sat o
(b) g6 and g7t Amendment Acts E:i g 6:TT afte 6431% aﬁﬁﬁ_ﬂq
(C} 42nd and 43"“ Amendment Acts [C) 4,.}a_r-- aﬂt i;:_[: . aﬁﬁ'ﬂt{
{d) 734 apgd 74t Amendment Acts et o . Risky -
____"_____________,__________"____‘__________“_‘_L_____L___:_\__:{g}_}_ 734t 3R EREIR:E et Qilﬁrﬁ'q-q- i

------------
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148.

149.

150.

3Re) \@ T

D.5TF-1-23
147. Match List-T with List-Il and choose the correct|147. -1 = g=l-II § gafem Fife o whef ¥ 9 fg
answer using the codes given below the lists : W@ﬂmﬂﬂﬁmﬂﬁt{ :
List-I List-11 ;Eﬁ_l H.‘?ﬁ'-l I
(Author) (Book) GICED, (T5T)
A. Lallanji 1. A Comprehensive History of A, s I. T HiERe fow o 3w :
Gopal India : The Delhi Sultanat Mo g Tt oo
B. Habiband 2. The Economic Life of B. Eiﬁau‘q"__{f 2. T FHATEF AEE A% AT
Nizami Northern India f=mdt e
C. K.S.Lal 3. Early Chauhan Dynasties C. Fra. o 3. el der ST
D. Dasharatha 4. History of the Khaljis D. W'«"fﬁ_’ feregt o7t & et
Sharma E%% wE ;"::_,l
Codes : (= A B € D
@ 2 1 4 3
A B cC D © 1 ) = i
@ 2 1 4 3 @ 4 3 2 1
® 1 2 3 4 @ 3 4 1 2
© 4 3 2 1 148, Freferfie st o feem <fifsng .
D3 4 1 2 kﬁ%ﬂﬁm It ¥ srifam, Fat fig 7 S 5
':Cc::nsid‘)er the following statements : foreg forsre =1 ?“éfa ferm |
1. Kunwar Singh, Landlord of Jagdishpur in 2 G EEI%"!EﬁH o T s Eﬂi“rEF &% O F
Bihar, led the rebellion against the British. =T HIRIT W& = |
2. Lord Dalhousie recognised the adopted son of Wﬁﬁﬁ#ﬁ@ FEE /E ?
Rani Lakshmi Bai as the heir apparent. (a) e T-‘ (b) TN 1TH2
Which of the above slatements is/are correet 7 {c) Faer 11 ddyr 1 FHIT 2 BET
(2) Only2 (b) Neither ] nor2 149, ﬁﬂ%ﬁaﬂﬁﬁaﬁuﬁm o ferem Shifsrg o o ST
{c} COnly1 {(d) Bothland2 mw
Consider the following foreign travellers and arrange |
them in ascending chronological order : o E_’{T:ﬂ’ -»Eg%
1. 1-Tsing 3. %??\‘TFT P
2.  Al-Biruni 4.
1. Huentsang (Hiuen Tsang) :ﬂ%ﬁqwﬁﬂﬁqﬁraﬂtqﬁq
4, Fahyan {Fa-Hien) —Tfay 1,2,3,4 0 4,3,1,2
Select the correct answer from the codes given below : ey 2,1,4,3 4 3,421
4 by 4,3,1,2 "
gg ;::33 Ed; 3.4.2, 1 150. 3 3w R e €, R & o i (A) 7
Given Ibe’lm:-.f are two slatements, one is labelled as E“Gﬁﬂ-ﬁ'ﬂ TOOT (R) T TS |
i R SARTFR (AY) T X ST A A TGE T S
Assertion (A} and the other as Reason (R).
Assertion (A) : Balban made his government firm H@Wﬁfﬁq‘:’fﬂlﬁﬁmﬁml o
and centralised all authority in his hands, HAOT (R) ! E]? FeC-afim | # e AT
Reason (R) : He wanied to protect the north-west ‘QTF&IHEHGTWFHTHH
frontier against Mongol invasions. EiE ATl Hﬂiﬁm
Select the correct answer from the codes given below @ (A E‘ (R) 2T T %t aﬁ{ (R), {A) F Ot
(a) Both (A)and (R} are true and (R) is the correct T FATE |
explanation of (A). (b) (A‘IW% ﬁﬂm}ﬂ'&}?f
(B) (A)is false, but (R} is true. Ao (A) T (R) = wet &, R (R), (A) £ 757
(c) Both (A) and (R} are trua, but (R) is met the -
correct explanation of (A). @ (A)T@E R R)TEAL ]
(A} is true, but (R) is false.

------
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